PR (L) ATz

=4 15 2 SR ROLE 0 AT IR 2

v
Gl

Shanghai MingHao Electromechanical
equipment Co., LTD
Taiwan MingHao Machinery Co., LTD

Hodlb . EAETHERILE TN 6005841401
F:5. 021-67760659

5. 021-37707651

5. mhjdkj@163.com

404 www.twmhkj.com

ER#EAE. 400-8383860

Address: Shanghai City, Songjiang District Sijing
Si Brick Road No. 600 building 4 401

Tel : 021-67760659

Fax: 021-37707651

E-mail: mhjdkj@163.com

http: //www.twmhkj.com

Certified by international
Standard Organiaztion

1S0-9001

@ (€

p @

StengHong
b= LB F



9: ' : Iﬁ"] ® P MR (L) AR W)
/ il = Shanghai Ming Hao Electromechanical equipment Co., LTD.
StengHong ,
g ﬁ !I.k m ;E Business Style
N e Y GEE

companyv
4 M 18] 4t > Introduction

' : ,-‘ﬁ" T2 g g Sl 2 I e T v :;J:-.:__ e

7S A . SR FHRAIR. 20
Vo, e 2 = ‘M Gredit, innovation, achieve

SEE BB ERATARS ATEBIERE (18 ) SRATE o
g mE et TSRO0, B, 4%, EEREaZmEemy _ o,
=F =1 Bk =h—y et =EIEStRaas - i 2% 5 | Y 4 RETIE
EREEREEER , FEEEERRENL. BERR AR S .- 7 RN | e
SRS R BRSBTS, 87 . kg W [ @ ) N\ B

Top quality, your best choice

NIEFRESE—. ESHENCEES , FHRMNEZAS , HELT = : ‘
IBREE—HEREREREFOREAL, ADUEBEENER , EEs 4 _”;j ¥ "fﬁw_ %d e
ERENERLR , A IHENMOHREERERTE , BUERIFHCE o, g RSN EUW . ms. wa mm
Xk, SEFHERERESHFHREFINS  NREAGTHIEEFE e £, S : - boestl, VR T Rigorous, unity, dedication, progress
SIERHER , BE DSRYSAE , 85 (8) BRAD , BESBRT

TRImERE , WL KPR (400-8383860 )

NS =]
& P EIF R TRIIB R

Customer demand is our pursuit

www.twmhkj.com




H 5% CONITENTS

SHFTIEER Gas ring pump working principle =k .. SSE S EEEENSE_———————— i
SHRIEEMFNI DB Gas ring pump structure and deComMPOSIHION «+- - i 2
HBRFIFRAEFR S product features and advantages of the Feng Paker - 3-7
HBKIFRIERISE R MIFR product selection of reference and schedule e 8-12
EHS-1ACARFIERISH . HiLk. R~ EHS-1AC series production parameters. curve. Size - 13-16
EHS-2-3ACRFiERIS# . BHZk. R~ EHS-2-3AC series production parameters. curve. size: 17-20
EHS-2-3ACRFiERIS# . BhHZk. R~ EHS-2-3AC series production parameters. curve. size: 21-24
EHS-3-3ACRFiERIS ¥, BiZk. R~ EHS-3-3AC series production parameters. curve. Size:--- 25-28
EHS-4-3ACEFixBISH ., 12k, R~ EHS-4-3AC series production parameters. Curve. Size ... 29-32
EHS-5-3ACEFixBIS#H ., 2k, R~ EHS-5-3AC series production parameters. Curve. Size .- 33-35
EHS-6-3ACEFixBISH ., 2k, R~ EHS-6-3AC series production parameters. curve. size 36-41

EHS-7/8-3ACERFiERISH . #iZk. R~} EHS-7/8-3AC series production parameters. curve. size-———— 42-46

EHS-9-3ACEFixRI &% . #hsk. R~ EHS-9-3AC series production selection parameters. curve. size = 47-52
EHS2-1ACRFISERINIEE S H . #iZk EHS2-1AC series of selection parameters. high pressure fan curve. size- 53-54

EHS2-3ACRFISERNMERISH . hzk EHS2-3AC series of selection parameters. high pressure fan curve. size: 55=-61

EHERNERINIER S Turbo Blowers(Centrifugal Blowers) parameters. CUIve - 62-68
BARZBRERHERSE Multi-stage TUrbo BIOWETS PArAMELErSs  GUIVE - s oo 69-71
B RUIEEO N Dlato FaMl DATQEAELErs. CUIVE: -t toitsts e sttt s oL it s e s st 72-73
SERIEH. HEES. BEM. ZIESF High pressure blower fittings, muffler, pressure release valve, filter - 74-75
BEABIRRITIRS TAIWAN ShengHong industry appliCation GASE «-------:--:-wwsrmemsruremem oo 76-78



#ity °

ShengHong

AL BRJZE Y Operating Principle

SR

fjiHiE Side Channel

M4 Impeller

1 Outlet
#HA T Inlet

B RIEE

Vacuum pump chart

www.twmhkj.com

SHETRERTEAERNET L, BRSO TEMER. BT REREEERBI, BT ARME TEERAMEET, MRV BRA T TN, G G
SEERSO 1 RABEHAMNEE 2 U, kEHE A6 LASE—NEERNM A EBEOHESEEIMNIEBESIEM, 001 M pump cover | 011 JEEE base 021 B j washer 005-2 SRET screw
B HE R BT, SARGORE RN, GE79B I 60 S 3t — S5 0. B (GRS U 1 3 , SO T 1 9EAt K38 4 HE R AR, e | ks oser g2 Moy 02 SR ol DIC™ | e Rueshenoens
003 FE & pump casing 013 % FEHR pressure—plate 023 O BMFZHE O-ring 010-2 ;EE 48 soundproof sponge
The impellers are mounted directly on the motor shaft for noncontact compression entirely without friction.Maximum operational reliability, even at high differential is 004 BB F rotator 014 | 3R screw 024 B3 hand ring 010-3 8257 screw
ensured by the arrangement of the bearings outside the compression chamber. 005 41 motor 015 EE [ fixing base 025 R L5 wrap ring 011-1 S24£T screw
The gas it taken in though the inlet1. As it enters the side channel 2, the rotating impeller 3 imparts velocity to the gas in the direction of rotation. Centrifugal force in 006 8453 motor cover 016 ESEF felt ring 001-1 H2%T screw 011-2 $2%T screw
the impeller blades accelerates the gas outward and the pressuer increase. Every rotation adds kinetic energy. 007 Rt fan 017 | s oil seal 0012 | H2%T screw 012-1 #EH M lock washer
Resulting in the further increase of the pressure along the side channel. The side channel narrow at the rotor, sweeping the gas off the impeller blades and 008 R E fan cover 018 iR screw 004-1 4 flat key % T
discharging it though the outlet silencer 4 where it exits the side channel blower. 009 FIELE S paper pad 019 FR#F ware washer 004-2 T4 flat key ~| ____‘———————_________________
010 S4EG Muffle Tube 020 | st oil seal 0051 | $RET screw T~ ______________“—————————___

Ol

MINGHAO

(0=

MINGHAD



5ty °

/iengﬁong www.twmhkj.com
Cawiob=3=Ly -3 Features and advantages -1 %<8 The performance advantages
m JUHEHRTIZ, RHARE, BINT TEREM. m 100% FToif, /K E4E , R B IS IRE S RABAIIN IPS5 BIBHRFR  F R4k,

Improvement of traditional crafts, bearing front, increased stability.

m XU (50/60HZ) R BB EREME /L F T LArA XM B EFR, MANERT, #RARRENTERE R8T BT TS MEAT®.
m S TSRIRENFEE S, b BB R MR AT PUR SR 300%, i SR EEMMFNZEHERB S SEEREIRIHENREK.
B R MHEXAEBERME, EEWN A, AL R, RARE . BA# OBBVURMN IR, RIERES MR, SREREEIH P FRLE,

#B o3t A B i, KL A n.
B et bt R m @2 RN B SE R EMENR, R A PROE.UG.CAD S8 R BNZ iR 4z sh 8 i 5 R~

Using some of the imported parts, lengthen service life.

B PEREREESS—AMEERE, SHAMINT B 100% oil free compressed gas,water ring vacuum pump,motor,all are the protection calss IP55,class F insulation.
NI TSR, e AR TE, m Dual frequency (50/60HZ)and wide voltage can meet almost all regions of the world the voltage level, the external design of the bearing,

can bear high woring temperatuer, improves the reliability and sevice life.
The shell adopts the high quality aluminum alloy one-time die—casting molding, maching parts ) ) ) )
) m The introduction of variable frequency sriver new concept, than the maximum performance can be driven by a commom motor is improved
Completed in the cutting process, ensure the accuracy improvement of traditional technology. ) )
to 300%, impeller and pump body seal forms the unique reduced pressure gas pressure loss in the process of compression.

B Pump casing, impeller die—casting molding, sturdiness and durability, excellent heat dissipation, imported Japan Germany, precision

m Hip AR RIS R BRI, BRI T L F 2 = 325 20%, machine tool cutting, ensure the accuracy and quality, air pump through the surface of protective paint processing

The design of the impeller through the accurate calculation of argumentation, the performance under the same power ratio m Products through the strict mechanical, electrical performance test, simulation demonstrate the use of PROE, UG, CAD and other

Similar products increased by 20%. computer aided design software and motion.

OF 04

MINGHAQ MINGHAC



ShengHong www.twmhkj.com
SISt 3 58 Specifications complete, famous all over the world bl 0k & DslaWl Flexibe installation
B ZX100Z TN~ RE ST RHELEMHAGN ANER, RARTEENIM(50/60HZ) B, MHPFRIPSS(UEEEFRFR), EHFOEEHT, # B giREOHeRdE, FEEARY, XEKRERFRRETSEERNLRKRER.

TUEAAESHAREZR. FETRRERM. PR, FEl, FSHEERENNEAIRE, BB RTEHABZENRR.

B Can be mounted in any direction, without any restrictions, which means that reduces the space requirements and installation costs.

B As many as 100 kinds of products can meet your specific application of various requirements, with wide voltage frequency (50/60HZ) motor,

protection class IP55 (class F insulation), anywhere in the world, can be applied to wind morale ring cacuum pump. shatever in Europe, Middle % @ EI"J FE _E; gré; f@ Total quality management
Y S

East, Southeast Asia, can be delivered in a very short period of time, our volume inventory of products can meet your needs.

m 1RIEISO9001:2000/#7 4, FHBERERBMEFRERAS —, NRFARIT. FR. £~ ITRAERDREENREXRE, |, RERE
HARREFN. BRENTSREBEFHNRRRS . ABTRORARESHTHRNNSREREAT D ATRIEFRNSRE, N™@REE

ISFORE) STy EE “Variable frequency drive energy efficiency 1 TR, ABERYTHTEBAFZEINATHNUENRERIEIRSE. XIMNRERIERZETSEXRNIEAE, FEICEIANE, #HEEHFM
' Ek, FR, XHOEM, ODMEFESI AL, HMBEFNFERERNGHEF R BRI~ o

B According to the standard of ISO9001:2000, wind, always put the quality and customer satisfaction in the first place, from the initial design,
B SESEHGEFHELERRRE-MERR, AFESHSHEAZR. EENTNETENENAEEZRENSE. XREATHERNETRSEL

ERPERENER N, NEZTOMISBEEE, ERFETHRAAKRIK.

development, production,order processing and subsequent customer support, we will always provide you the best service, system throught the
product cycle. Technology progress and market success of wind and products with its high quality is inseparable. In order to guarantee the high

quality of products, from product design to delivery,wind, have been established for the reliable quality of each link of supervision to ensure

m Directly when installing a variable frequency motor or the control cabinet, the gas ring vacuum pump, compressor of the same type can handle ; , : ; : oo 2
y g q y 9 9 pump P yp production system.The quality assurance system in conformity with the agreed standards,and through the 1ISO9001 certification, to meet the

more traffic in energy saving at the same time. The is because always precise control system to provide accurate power you need, so as to ; ; ; ;
9y 9 ys P y P P y requirements of the world. Also welcome OEM,ODMset product development, new product usage requirements and situations develop

revent additional gas consumption, the system running cost greatly reduced. )
P 9 P y 9 9 y satisfactry.

o5 o6

MINGHAQ MINGHAC



48, ©
ShengHong www.twmhkj.com

I 4=—)a2;~¥d The high pressure difference EHS2 IEEIEY AN How to select model

B FESREREHLR S, 52 / ShengHong air selection which models, parameters?

" RANEHESHEHSZSHRS RIS LBk 1 000mbary E £——EEBT R EANSHRESH. BEDH, fFLELTANRCFLE N AR IR RS0 Hiaselect themast malehing peromencerpioducts?
LERMMEHS2ARERA, WEER, MARPER. NE, BT HEERE, TERFXLRERN, RIGEHSAEEESWOFAETLA,
BN TRIFFR I HEA TS ) MERNOF RRBEMEH. EHS2SHRSRIEET S 0% 4 TS T1E20,000/1H

B Our revolutionary EHS2 gas ring vacuum pumps can generate up to 1000mbar of
differential pressure——far higher than any other of the gas piston compressor At

present, the other system can produce pressure range than our EHS2 volume

larger, more noise, and easy to wear Now, in addition to having low noise, no wear

ect. these advantages, our EHS2can also be used in more severe conditions.Our

engineers and designers are trying to make our products become more quiet.
EHS2 gas ring vacuum pump can work continously 20000 hours without downtime

maintenance conditions.

o7 o8

MINGHAO MINGHAD



3ty °

auE=S1-8::88 Demonstration of the type

EHS 2 2 9 A O: BMH®=4 A220-240V/ Y345-415V IR A3KW ( &3KW ) X THRERE
T 71T 1711 O: WHE=48 A345-415V/ Y600-720V ILEBEHAKW ( Z4KW ) X ERIRERE
A: BB 220-240V IhE R HAREBE
A At HAE R B I T S

BALFFS  The motor sequence number

9. FEZ¥ Any installation mode 3. EELHE Vertical installation

k"]

: BM#  Single impeller : W Double impeller
. BERASRE Single impeller Large flow . WK KB Double impeller Large flow
: FH®ES 6: =&

w
i

w

P REFHS  The product serial number

EHS: BEARE High pressure large flow EHS2. &E/\RE High pressure small flow

b opEas M Absolute pressure

SBNENZVERRS (BEAT) ARAEMBRNNEE. FFNEERILSEEK,

Absolute pressure in cacuum (absolute pressure is zero) as the reference and the measured values obtained. So the pressure is greater than the
reference value.

o)

MINGHAQ

Gauge pressure

RERESTIRERSENNNEE. MUERSAREE, BILKFRNEESZLEREER.

Gauge pressure is that measurement is higher than the standard atmospheric pressure value. The standard atmosphere for reference, so the

actual measured value is large than the reference value.

Vacuum degree

HZERERTIRERSENNNERE. WEEEEMARERSE, FFUKERUEREN.

www.twmhkj.com

The vacuum is that measurement is lower than standard atmospheric pressure value. Measurement benchmark is the standard atmospheric

pressure, so the actualmeasured value.

Conversion table

& 51 Pressure

M & Air volume

¥4 AL HRERT SRR S

The initial unit Coversion constant Target unit

I/min 0.06 m3/h

gal/min 0.227 m3/h

ft3/min(cfm) 1.699 m3/h

m3/h 16.667 [/min

m3/h 4.403 gal/min

ma/h 0.588 ft3/min(cfm)

PGl A HERATF B R4
The initial unit Coversion constant Target unit
Pa 0.01 mbar
hpa 1.0 mbar
kpa 10.0 mbar
mmH20(mmAq) 0.098 mbar
mH20 98.07 mbar
at 980.7 mbar
inchH20 2.491 mbar
PSII pdffin2 68.948 mbar

MINGHAD




#ity °

hengHong
ey Lcd:=k Il Selection and use knowledge

1. DIN VDE 01058(IGC 364 #MiE, EHBARATBNEEREEMTE,

BIRAR: BEA EXE2AFABRNPAR. BOREEFNEI. 28, BXFENIRRSERMPHENRTHAERNLENTE,
EHERIRTBAEN R F R ENPEEE. BLOENEFERAR, RBHEXNEGRIFRE,

DIN VDE 0105 or IGC 364 regulations, non qualified personnel shall not be engaged electrical equipment work. Qualified personnel:refers
to the factory safety responsible person authorized personnel. According to their own training, experience, knowledge and ability related
standards on prevention of accidents to complete a necessary work, and to realize the potential The risk and take the necessary preventive

measures. It is necessary to life first aid knowledge, familiar with the life rescue equipment related.

2. FEREMRNBRMEFBATERESHESEEZNRARR, LHATRES—MUENRE, RIEREFTNLIRE, FILXLERIE

FHABFEIULBTERARAEFHRENB[ILRENHVLERFS. BAXERE—T, MRRZ~ROFASH, SHXRIEFED, BRES
mARERBNMTRS, BKRERE.
Came with the equipment operating instructions may not contain detailed information all of the factors related, in particular, can not put every
possible intallation,are related to the operation and maintenance of way. The manual includes only can let the qualification information
necessary for correct operation personnel of machines or equipment. Therefore, it is necessary to clarify, if lack of detailed parameters of
products, or related questions, please according to the type of equipment and processing code for this product, contact us.

3. f%. HHFFSDINEN 60 034/DIN IEC 34— 1454, “HERF,
Tolerance standard: motor meets the standard of DIN EN 60 034/DIN |IEC 34-1, insulation class F.

MINGHAQ

4. AERMNEIR, BEREEAILZORGEL, RUETREEREENFHEXAR, ERZAE, HNMHLES, XTEERENTR. LENE
AREER. SRFSHYES, NEEFNFRERENMEMNTENLG.

In the selection of attention when, according to the specific circumstances of the scene, is focused on the flow or pressure and other related
factor, choose the most suitable, cost—effective, the energy is saved. The use of pressure release valve, filter when necessary And other
auxiliary parts, in order to better play the performance of equipment and matching field.

o

BRI R B ESREREHETMNE. BE, IMRAERBEA, THLHRAEETR. EREEFHEERANES, RERERFRE/R
EENEQRRIETERN, N TR. B, EFARFHIEE.

Start up and ready to check the fastener without loosening, shed off 5 before the start, shell not deformation disloaction, intact/wiring, power
supply voltage, meet the requirement/shell grounding , installation of leakage protector/check the shift motors ensuer normal operation

should be smooth, vibration, noise, temperature rise were normal.

6. SRAEFZIED, MEARFRERKR. LM, KK, BEREASEIZAVMERATEE, FUEHREEREER,

Pump during operation, such as nosie, vibration, increase the abnormal increase of screaming, abnormal temperature rise should be cut off

the power supply immediately checked, troubleshooting to be re energized.

FRESREREREENBRATHITERBE!

No air pump in a connection pipeline of start power!

PSS ORMEEE, LARMILE!

No inlet using hard links, must use soft connection!

www.twmhkj.com

MINGHAD



3ty °

EHS/1AC( B2 . 2R ) SHEZREI S K MHRES IR (IP55 50/60HZ)

EHS/1AC(Single, double impeller) Gas ring vacuum pump models and the performance parameters table(IP55 50/60HZ)

EHS/1AC

(8. W) SHEFERES K MHEESHFR(IP55 50/60HZ)
EHS/1AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

www.twmhkj.com

B3

DA MESE

BK

e

WE

2
B2 (EHS) | WE | WK hE B B HER B ASES FEES i o
Model single | frequency | power voltage current Max airflow | rated Vacuum | rated compress noises weight
double HZ KW vV A mé/h mbar mbar db(A) Kg
50 0.4 200-240V 27 80 -120 130 53
RklSnddiets » 60 05 200-240V 3.2 98 ~150 160 56 »
50 0.4 200-240V 2.7 100 110 110 54
EHS-238-A 8 60 05 200-240V 32 120 ~130 140 57 i
50 0.55 200-240V 37 95 120 130 57
EHS-oa=A » 60 0.62 200-240V 49 110 —120 130 60 Lo
50 0.7 200-240V 48 100 _150 150 55
EHo-208-A ’ 60 08 200-240V 41 120 _150 160 57 "
50 13 200-240V 7.3 120 -240 280 58
EHS-269-A R 60 15 200-240V 8.3 145 —230 260 60 7
50 0.7 200-240V 48 145 -100 100 56
EREeales 2 60 0.8 200-240V 41 165 -110 100 58 a
50 07 200-240V 45 145 -120 120 63
EHS-a19<h 2 60 0.83 200-240V 56 175 -130 130 64 L
50 0.85 200-240V 5 145 —160 160 63
BHS-328-A ’ 80 0.95 200-240V 58 175 _160 160 84 L
50 13 200-240V 7.3 145 _170 200 63
RHIRebadets N 60 15 200-240V 78 175 _210 220 64 "

I3

MINGHAQ

BR OIREESE N BE BE . =B
- > =]
BE (EHS) | WHR R hE B BR HAE BEXZES E4REN
Model single |frequency | power voltage current Max airflow |rated Vacuum |rated compress| noises weight

double HZ KW V A m3/h mbar mbar db(A) Kg
50 15 200-240V 9 150 -260 260 66

EHS-3315-A ™ 28
60 1.75 200-240V 9.5 180 -300 290 69
50 0.85 200-240V 52 180 -100 110 64

EHS-349-A L] 16
60 0.95 200-240V 5.8 210 -100 110 66
50 1.3 200-240V 73 180 -150 140 64

EHS-359-A L] 17
60 1.5 200-240V 8.3 210 -140 130 66
50 1.3 200-240V 7.3 210 -170 170 64

EHS-429-2A B 22
60 15 200-240V 75 255 -150 140 70
50 1.5 200-240V 10.4 210 -200 190 64

EHS-439-A B 24
60 1.75 200-240V 11.2 255 -220 210 70
50 2.2 x 10 210 -220 210 64

EHS-429-A & 200-240V 26
60 255 200-240V 11 255 -240 230 70
50 1.5 200-240V 10.4 270 -150 140 65

EHS-449-A B 26
60 1.75 200-240V 1.3 330 -120 110 71
50 22 200-240V 12.8 318 -210 200 72

EHS-629-A B 30
60 255 200-240V 12.8 376 -210 200 74

14

MINGHAD



#ity °

ShengHong

EHS BEx[E4gikRghzk 1AC/ Vacuum compression type curve

Vacuum Selection diagram 50 Hz--E 2 & BIE & 50Hz

Compressor Selection Diagram 50 Hz--E 43 B E 3k 50Hz

350 — — 350
me h mih
300 — 300
5 e O O /”/ ' |- 200
£ 150 _ ] b 150
o 22/ 1{')5/ | 22
(E 100 i ) ,/’/ ,nd'.s// - - bsl | 0
_% oy 15 ] n: ng/// ““CL-____OH 5%
[ =i | T
m o I | | u | 1 | LA T f - 111 Il | p
300 250 200 150 100 200 250 300 mosr
Vacuum({ ==/ falE ) Total pressure difference Ap/ BEZE Ap Vacuum( E48/ IE% )

e

400 400

mh mih
1 350 - 350
& 300 | I 1 300
<
? §BZass =
£ o0 o R I R B . o " 200
G 150 25 s o - 150
8 T T ‘BO//M
g 100ty T 1 100
3 [ . S ——

50 o 50

300 250 200 150 100 50 0 50 100 150 200 250 300 moar
Vacuum({ =/ fafE) Total pressure difference Ap/ BEZE Ap Vacuum( E48 / IE% )

IS5

MINGHAO

e

EHSEZ[E45i%®ghzk 1AC/ Vacuum compression type curve

Vacuum Selection diagram 50 Hz--E & & E E 3 50Hz Compressor Selection Diagram 50 Hz--E4gi%£ B E 3k 50Hz
T 250 250
mih mih
w 20 200
é 150 i i i 1 i i i i i i ™1 ﬁ i = i i i 1 150
§ 100 e T : S 2 ——— ! 100
| — -M" e
§ 50 } 15%%“;##'{///@_ M\? o7 | Tt‘%_'_“‘—-\'—:f____________ O1_5| | 50
S 13 | 04 T 04| i L
3 oL 1 | I ﬁf/ ot A O I | 1 ] . | | | I I i ) I A B \(Y I Lo
2 300 250 200 150 100 50 0 50 100 150 200 250 300 mber
Vacuum( B%= [ fafE) Total pressure difference Ap/ BEZEAp Vacuum( 45 / IEFE )»

Vacuum Selection diagram 60 Hz--E &% E E & 60Hz Compressor Selection Diagram 60 Hz--E 4z & E 3k 60Hz
T 250 ~—r— 250
mih i h
" 200 - 200
g 180 150
’g 100 1100
{E 50 07—7?.-'._ | [-78] 50
o
3 0 0
@ 300 300 mber

Vacuum( B% [/ fafE) Total pressure difference Ap/ BEZEAp Vacuum( E45 / IEE )’

www.twmhkj.com

16

MINGHAD



#ity °

www.twmhkj.com

EHS-2 EZ[E451% R ghék 3AC/ Vacuum compression type curvell

EHS-2/3AC (B W) SHEFRIS K4S IR (I1P55 50/60HZ)

EHS-2/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

Compressor Selection Diagram 50 Hz-- [E4gi% & B & 50Hz

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz

17

MINGHAQ

3

3
=
=

-

120

mh
—100
—80

60

40

c 885888

Suction Capacityl@ N\ & —

3d0mbar 240
Vacuum( HZ / fafE )

180

60 0 60

et

o7

Vacuum( 48 / IEE )

—20
0

180 240 300 mbar

-

B DB H BX oz oz e
5 3 x =]
HSEHS) | RE | BE | X B Bk | HRAE | ESES FEGRIE /) 15 i
Model single | frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight 1 yh il
double HZ KW V A m#/h mbar mbar db(A) Kg y A )@W Lo
—— & 50 0.4 | 200-240A | 345-415Y | 2.6A/1.5Y 80 -120 130 53 o 5 9 == 90
- _2‘- -
60 0.5 | 220-275A | 380-480Y | 2.6A/1.5Y 98 -150 160 56 B 60 /M/ ﬁ | \5‘1&%‘@9\ L | &6
o
50 0.4 | 200-240A | 345-415Y | 2.6A/1.5Y 105 -120 130 54 3 I Y
EHS-239 ] 1 30 S — ;/ I — | 25 { | 19| L 30
60 05 | 220-275A | 380-480Y | 2.6A/1.5Y 120 -150 150 57 g B 0ss 5T L
50 0.7 | 200-2404 | 345-415y | 3.8A/2.2Y 105 -120 130 54 0 — ! 1 1 ! ! -0
EHS-249 ] 12 300 mbar 240 180 120 60 0 60 120 180 240 300moer
60 0.83 | 220-275A | 380-480Y | 3.8A/2.2Y 120 ~160 180 57
EHS—2308 ™ 50 07 200-240A | 345-415Y | 3.8A/2.2Y 85 -210 240 55 15 Vacuum( B [ Ak ) Total pressure difference Ap/ BEZAp Vacuum( E48 / IE% )
60 0.83 | 220-275A | 380-480Y | 3.75A/2.15Y 102 -250 250 61 >

18

MINGHAD



#ty ©

Sﬁ&?/gﬁmbg' www.twmhkj.com
’ EHS-2 B Zf=ur</Single stage mounting dimensions ‘ ‘ EHS-2 W z%R<+/Two stage mounting dimensions
EHS=2 EHS-2
A
I VV1 G— Yx I"‘—G"“
= (T eE J
3 v VNVT .
A V1 V1 { YxZ . A
- . E
D b |
| | N R S I o . YxZ 52 G
e o ; vVl | v
P \\z/’\;:: T Q F:? L |/ YxZ F_HHH\C%7'
o) o S ik > €L b
I AV et @;D U _J . = ~—
o7 /N oR N - Li 120 A '
f [ S— O F-—1— l ok
C - N K M~ o "/ ':‘.)
=—N K M — X N
E F ) - 0.
l s X
><
=
p N K M
A S Type # |A|B|C|[D|E|F|G|H|J|K|L[MINIO| P |Q|{iR|S| U V(1=) | V'(1~) | V1(3~) | V1'(8~) | YxZ X-Holes i F
EHS-229 3~ |246|247| 90 [205(230|256|135|128(111|83|108| 75 | 71|39 | G144 [ 64 | 10 |25| M6X17 M25x1.5 | M16x1.5 |MBx15| 0° /[120° f240° |140
EHS-239 3~ |246|247| 90 |205|230|267|135|128|111|83 (108 | 75 |82 |39 | G144 | 64 | 10| 25| M6x17 M25x1.5 | M16x1.5 |M6x15| 0° /120° f240° |140
EHS-249 3~ |246|247| 90 |205|230|267|135|128(111|83|108| 75 |82|39| G144 [ 64 | 10 |25| M6x17 M25x1.5 | M16x1.5 |M6x15| 0° [120° f240° |140
EHS-239-A | 1~ |246|247| 90 [205|230|267(135(128|111|83|108| 75 [ 71|39 | G1ys | 64 | 10 25| M6x17 | M16x1.5 | M25x1.5 M6x15| 0° /120° /240° |140 BeType |B|alale|c|ole|rlaln|nm|olc|cimnlo|plalirls|T] U |vita i~ viee) [vitee)| a [ix] vz | x-Holes
AL
EHS-239-A | 1~ |246|247| 90 |205|230|267|135(128(111|83|108| 75 |82 39| G144 | 64 [ 10 |25| M6x17 | M16x1.5 | M25x1.5 M6Ex15| 0 /120° [240° |140
EHS-2308 3~ |284|316|270| 45 |205|230|316(|135({128|106/111|83 [108|75(|130|39|G144| 64|10 |2.5|88|M6x17 M25x1.5|M16x1.5|2 7 °|140|MBx15({51° /171° [291°
19 20

MINGHAO MINGHAO



5ty °

www.twmhkj.com

EHS-2/3AC (2 Wik ) SHESHAS B MHEESKE(IP55 50/60HZ) EHS-2 EZ 451k R #h% 3AC/ Vacuum compression type curvell

EHS-2/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz Compressor Selection Diagram 50 Hz-- E48i£ 2 E & 50Hz

150 : 150
m¥h - m¥ b
T 120 120
- 0.55
é a0 L et I N— | L1 90
z
38 I 085 \_“33 0
5 30 | | oss |
g \\"“‘O a7
@ 0 — I | I ! | ! | | | I ! ! L | I | L0
300 mber 240 180 120 60 0 60 120 180 240 300 mbar
Y Ok RE S5 5K e e Vacuum( BEZ= /A% ) Total pressure difference Ap/ BEZEAp Vacuum( E45 / IEJE )
BE - ; - ; 37 B8 - -
EHs2opc) | BB |k | T B Sk | ABnE | ASES) | ERED
single |frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight
Model 1 iple HZ KW v A m¥h mbar mbar db(A) Kg Vacuum Selection diagram 60 Hz--E & i & E 3% 60Hz Compressor Selection Diagram 60 Hz-- £ 4&i% 8 E 3k 60Hz
50 055 | 200-240A | 345-415Y | 2.8A/1.6Y 100 -120 130 55
EHS-259 -] 11
60 063 | 220-275A | 380-480Y | 3.0A/1.7Y 120 -120 140 57
50 0.7 | 200-240A | 345-415Y | 3.8A/2.2Y 100 -150 170 55 I 12 S, 180
EHS-269 -} 12 150 | | s 20, 150
60 0.83 | 220-275A | 380-480Y | 3.8A/2.2Y 120 -160 180 57 " ml %, oo
50 0.55 | 200-240A | 345-415Y | 2.8A/1.6Y 140 -60 60 56 é 120 T 1 =4 ' - T T ] T 120
EHS-279 & 12 \ £
60 063 | 220-275A | 380-480Y | 3.0A/1.7Y 165 -40 40 58 £ 90 ® % v %ﬁﬂﬁk [ ] ] 90
] 083
50 0.7 | 200-240A | 345-415Y | 3.8A/[2.2Y 140 -100 100 56 S 60 R = A pes 60
EHS-289 ] 13 ] | O . 063 ~1
60 0.83 | 220-275A | 380-480Y | 3.8A/2.2Y 165 -110 100 58 S 30 B <28 30
EHS_2318 - 50 085 | 200-240A | 345-415Y | 4.2A/2.4Y 110 -200 230 58 - 0’% o - | | _ _ | | | o
60 0.95 | 220-275A | 380-480Y | 4.0A/2.3Y 130 —240 240 60 500 mioar 400 300 200 100 0 100 200 300 400 500 moer
50 13 | 200-240A | 345-415Y | 57A/3.3Y 110 -260 310 58 .
EHS-2328 by =5 e ek || © OAIJ:S = P = 55 = 18 Vacuum( B% [ fafE ) Total pressure difference Ap/ BEZEAp Vacuum( E45 / IE/E )

2l 2

MINGHAQ MINGHAD



Aoty ©

ShengHong www.twmhkj.com

’ EHS-2 B =R+ /Single stage mounting dimensions ‘ ’ EHS-2 W z%R<+/Two stage mounting dimensions
Y x —G—
wl VT
/D@
]_ Yx& - 32 ~
; C—
ra Yx/Z s
< K vl | v v
m -+ — T T T ) .\0 { 7 |-\6\0
x Bl .
P = Y x
l R /ﬁ—
f = 4
m | ___1200 o /‘ ]
o | - b T Vo N I S—— I I S—
-—N K M~ < ?’3\ ALY
F ~NT) I .
- T
= L
= |
iy
g! = T *ﬁ s )
SType | |A|B|C|D|E|F|la|H|J|K|L|M|N[O| P |Q[iR|S| U V(=) | V(=) | viE~) | vit@E~) | Yxz X-Holes | X
N K M
EHS-259 3~ |268|272| 93 |205(230]|260|135|141({111|83 |108| 82 |69 |41| G144 |64 |10 |2.5| MEX17 M25x1.5 | M16x1.5 [MBx15| 0° /[120° [240° | 160 F
EHS-269 3~ |268|272| 93 |205(230|260|135|141({111| 83 |108| 82 |69 |41| G144 | 64 | 10 |2.5| MEx17 M25x1.5 | M16x1.5 |[M6x15| 0° /[120° /240° | 160
EHS-279 3~ |268|272| 93 [205(230|276|135|141({111| 83 |108| 82 |85 |41 | G144 | 64 | 10 |2.56| MEx17 M25x1.5 | M16x1.5 [MBx15| 0° /[120° /240° | 160
EHS-289 3~ |268|272| 93 |205(230|276|135|141{111| 83 |108| 82 |85 |41 | G144 | 64 | 10 |2.5| MEx17 M25x1.5 | M16x1.5 [MBx15| 0° /[120° [f240° | 160 g__j%'rype {*g AlalBlclple|FlalH|r|J|klL[M|N|O| P [QiRlS|T U V=) | v~y | Vi) [vit@~)| a |ix]| Yxz X—Holes
EHS-249A 1~ |268|272| 93 |205|230|260(135(141|111|83 |108| 82 |69 |41 | G144 | 64 [ 10 |2.5]| MEX17 | M25x1.5 | M16x1.5 MEx15| 0° /[120° /f240° | 160
EHS-2318 3~ | 293|324 |286|47|205|230|354({160(141[114/120|83|108|82|138|41| G144 |64|10|2.6|92| M6x17 M25x1.5|M16x1.5|2 7 °|160|M6x15|51° /171° [291°
EHS-259A 1~ |268|272| 93 |205|230|260(135(141|111|83 |108| 82 |69 |41 | G144 | 64 [ 10 [2.5]| MEX17 | M25x1.5 | M16x1.5 MBx15| 0° /[120° [f240° | 160
EHS-2328 3~ |293|324|286|47|205|230|354({160({141[114/120|83|108|82|138|41| G144 |64|10|2.6|92| M6x17 M25x1.5|M16x1.5|2 7 °|160|M6x15{51° /171° [291°
EHS-279A 1~ |268|272| 93 |205|230|276(135(141(|111|83 |108| 82 |85 |41 | G144 | 64 [ 10 [2.5]| MBEx17 | M25x1.5 | M16x1.5 MBx15| 0° /[120° /f240° | 160
EHS-269A 1~ 293|324 |286|47|205|230|354(160({141|1114|120|83(108|82|138| 41| G14,4|64|10{2.5(92| MEx17 |M25x1.5| M16x1.5 27°%160|M6x15(51° 171° [291°
23 24

MINGHAQ MINGHAD



EHS-3/3AC

(B WK ) SMAETRE SR MRESHFR(IP55 50/60HZ)

EHS-3 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ) _‘

EHS-3 Ex[E451% R #h4k 3AC/ Vacuum compression type curve

1S B DA HUE S R’A HE HE B =5
= ; . » =]
Model ' single |frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight
double HZ KW V A m3/h mbar mbar db(A) Kg
50 0.7 | 200-2404 | 345-415Y | 3.8A/2.2Y 145 -120 120 63
EHS-329 L} 13
60 0.83 | 220-275A | 380-480Y | 3.75A/2.15Y 175 -130 130 64
50 0.85 | 200-240A | 345-415Y | 4.0A/2.3Y 145 -160 160 63
EHS-329-1 L} 16
60 0.95 | 220-275A | 380-480Y | 3.85A/2.25Y 175 -160 160 64
50 1.3 | 200-240A | 345-415Y | 5.7A/3.3Y 145 -170 200 63
EHS-339 L} 17
60 1.5 | 220-275A | 380-480Y | 6.0A/3.5Y 175 -210 220 64
50 0.7 | 200-240A | 345-415Y | 3.8A/2.2Y 180 -70 70 64
EHS-349 B 14
60 0.83 | 220-275A | 380-480Y | 3.8A/2.2Y 210 -50 50 65
50 0.85 | 200-240A | 345-415Y | 4.2A/2.4Y 180 -120 120 64
EHS-359 B 17
60 0.95 | 220-275A | 380-480Y | 4.0A/2.3Y 210 -90 70 65
50 1.3 | 200-240A | 345-415Y | 6.6A/3.8Y 180 -170 220 64
EHS-369 B 18
60 15 | 220-275A | 380-480Y | 6.9A/4.0Y 210 -200 160 65
50 16 | 200-240A | 345-415Y | 75A/4.3Y 150 -280 280 66
EHS-3319 pud 25
60 205 | 220-275A | 380-480Y | 7.6A/4.4Y 180 -320 310 69
50 22 | 200-240A | 345-415Y | 9.7A/5.6Y 150 -330 440 66
EHS-3326 pud 27
60 255 | 220-275A | 380-480Y | 10A/5.8Y 180 -350 420 69

25

MINGHAO

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz

3

myh

s 8 3

Suction Capacityl@ N\ & —
5

0

125

200
mih
160
120

80

O’/ja/

22

4d0mbar 300
Vacuum( HZ / fafE )

200

0.85

13 \250
100 0 100 200 300 400 500 mbear
Vacuum( &4 / IEE )

Total pressure difference Ap/ BEZEApP

-

Vacuum Selection diagram 60 Hz--E & & E E & 60Hz

250 250
my'h ma'h
1 200 200
-
% 150 150
§ 100 ] ng‘;ﬁ__ ] S N Y S S ',
3 208 H““---.,____ﬂzss
£ 50 o <1 50
é 0 — 0
500 mibar 400 300 300 400 500mber
Vacuum( B [ Ak ) Total pressure difference Ap/ BEZAp Vacuum( E48 / IE% )

Compressor Selection Diagram 50 Hz-- [E4gi% & B & 50Hz

www.twmhkj.com

26

MINGHAD



fidy ©
ShengHong www.twmhkj.com

’ EHS-3 B Zf=uRr++/Single stage mounting dimensions ‘ ‘ EHS-3 W2 zxR<+/Two stage mounting dimensions

V1 129106 YxZ 29+ C—
a W ﬁ”) VT /D/
VT lE g] -
— YxZ /‘ >
=
¥t S e—— o N (| SRV (I, 2 -
m ,; ) Yx7Z 32 G ’
P > VI | v
\/ . 1} o I— M T vz | e
; L . s ~Gma S
o7 1 - | 120
—
J laYanall N I X
N—L—K—L— N e K - @ & e &
F F < o) ~
~ ar .
| - T
|J =2 *ﬁ ] ] é L
i = Type i A|B|C|D|E FIG|H|J|K|IL|M|N|O P QI|{R| S U V(1~) Vi1~) V1(3~) | V1'(3~) | YxZ X—-Holes $ X !}_
EHS-329 3~ |286|302|115(225|255|269(|135(|154(111|95(130| 70 |75 46| G142 | 72| 12| 3 | M6X19 M25x1.5 | M16x1.5 [MBx15| 0° 120° [240° |174 N K M
EHS-329-1 3~ |286|302|115|225|255|292|160|154(120|95(130| 70 |75 46| G142 | 72|12 | 3 | M6Xx19 M25x1.5 | M16x1.5 [MBx15| 0° /120° /240° |174 F
EHS-339 3~ |286|302|115|225|255|292|160|154(120|95(130| 70 |75 |46 | G142 | 72| 12| 3 | M6X19 M25x1.5 | M16x1.5 [MBx15| 0° [120° /240° |174
EHS-349 3~ |286|302|115(225|255|288(135|154(111|95(130| 70 |75 46| G142 | 72| 12| 3 | M6Xx19 M25x1.5 | M16x1.5 [MBx15| 0° /120° [240° |174
EHS-359 3~ |286|302|115|225|255|311|160|154(120|95(130| 70 |75 |46 | G14 | 72| 12| 3 | M6x19 M25x1.5 | M16x1.5 [MBx15| 0° [120° [240° |174
EHS-369 3~ | 286 |302|115|225|255|311(160|154(120|95|130| 70 |75 |46 G‘qu 72112 3 | M6x19 M25x1.5 | M16x1.5 [MBx15| 0° 120° [240° |174 = b
Bl S Type || A|A|B|CID|E|F[G|H|[H|J|K|L[MNIO| P |QIRS|T| U |V(1~) [V(1~) [VIE-) [VI'@~)| a |§X | YxZ X-Holes
EHS-329A 1~ |286|302|115|225|255|294 (160 (154|120|95|130| 70 |75 |46 | Glyz | 72 (12| 3 | MBx19 | M16x1.5 | M25x1.5 | M25x1.5 | M16x1.5 [M6x15| 0° [120° /240° |174
EHS-3319 3~ |322|324|315|58|225|255|401(191|154(153|128|95(130|73[151|45|G14|72|12| 3 |104| M6x19 M25x1.5|M16x1.5|28 °|174|M6x15|51° /171° [291°
EHS-339A 1~ |286|302|115|225|255|294(160(154|120|95|130| 70 |75|46| Glye | 72 (12| 3 | M6x19 | M16x1.5 | M25x1.5 MBx15| 0° 120° /240° |174 1k ;- X ;- & / /
EHS-349A 1~ |286(302|115|225|255|311[160[154|120(95 130 | 70 [ 75|46 | G14 [ 72 [ 12| 3 | MBEX19 | M16X1.5 | M25x1.5 M6x15| 0° /120° /240° |174 EHS-3326 3~ |322|324|315|58|225|255|401({191|154[153(128|95|130|73|151|45|G14|72(12| 3 |104| MEX19 M25x1.5|M16x1.5|28 °|174|M6x15{51° /171° [291°
EHS-359A 1~ |286|302(115|225|255|311(160(154|120|95(|130| 70 |75|46| Glye | 72 (12| 3 | M6x19 | M16x1.5 | M25x1.5 MBx15| 0° 120° [240° |174 EHS-3315A |1~ |322|324|315|58|225|255|401(191(154[153|128|95|130|73|151|45|G14|72|12| 3 [104|M6x19 [M16x1.5|M25x1.5 28°174|M6x15|51° 171° [291°
27 28

MINGHAQ MINGHAO



www.twmhkj.com

EHS-4/3AC (. W) SHEASHAS B MEESKE(IP55 50/60HZ) EHS-4 A [E4giE B4 3AC/ Vacuum compression type curve

EHS-4/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz Compressor Selection Diagram 50 Hz-- E48i£ 2 E & 50Hz
e 2B _BE | = s B | HRAE | ASESH | EEES f o
Model " single | frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight W 55 -
double HZ KW V A m3/h mbar mbar db(A) Kg o 5 Sas
s W 50 0.85 | 200-240A | 345-415Y | 4.2A/2.3Y 210 -110 100 64 5 g 5| s
— o g | 1 - 1
60 005 | 220-275A | 380-480Y | 4.0A/2.3Y 255 —80 70 70 3 100 Pu=:1 T el 100
3 ! {
s . 50 13 | 200-240A | 345-415Y | 6.6A/3.8Y 210 -170 170 64 55 t B Wl LI e 50
60 15 | 220-275A | 380-480Y | 6.9A/4.0Y 255 -150 140 70 !
s 500 mber 400 300 200 100 0 100 200 300 400 500mbar
L % 50 16 | 200-240A | 345-415Y | 7.5A/4.3Y 210 -200 190 64 -
60 2.05 220-2754 | 380-480Y 7.640/4.4Y 255 =220 210 70 Vacuum( BE=/hE ) Total pressure difference /A p/ ,gEiAp Vacuum( E48/ EE )
—_ & 50 22 | 200-240A | 345-415Y | 9.7A/5.6Y 210 -220 270 64 5 -
e 60 2.55 | 220-275A | 380-480Y | 10.3A/6.0Y 255 -260 290 70
50 0.85 | 200-240A | 345-415Y | 4.0A/2.3Y 270 -40 40 65
EHS-449 = 21
60 095 | 220-275A | 380-480Y | 4.2A/2.4Y 330 -40 40 71
50 1.3 | 200-240A | 345-415Y | 6.6A/3.8Y 270 -100 100 65
EHS-459 L 23
60 15 | 380-480A | 380-480Y | 6.9A/4.0Y 330 -70 50 71 350 350
EHS_ 460 s 50 16 | 200-240A | 345-415Y | 7.5A/4.3Y 270 -150 150 65 o ] 300 300
) 60 205 | 380-480A | 380-480Y | 7.6A/4.4Y 330 -150 130 71 5 250 250
50 22 | 200-240A | 345-415Y | 9.7A/5.6Y 270 -220 230 65 < 200 200
EHS-479 £ 26 & 25 €0
60 2.55 | 380-480A | 380-480Y | 10.3A/6Y 330 -260 210 71 g =] e
50 22 | 200-240A | 345-415Y | 9.7A/5.6Y 230 -290 360 72 S 100 el
EHS-4336 n 35 s 50 50
60 255 | 380-480A | 380-480Y | 10.3A/6.0Y 275 -350 330 74 £
-] 0 | 1 I | 0
BB - 50 3 200-240A | 345-415Y | 125A/7.2Y 230 -340 410 72 - @ 500 mee 100 200 350 400 500mar
60 ; 380-480A | 380-480Y | 12.6A/7. .
248 L E £ Sl 900 . Vacuum( B [ falE) Total pressure difference Ap/ BEZE Ap Vacuum( [E48 / IE/E )
T & 50 4 | 345-415A [ 600-720Y | 10A/5.8Y 230 -390 490 72 . gl .
60 46 | 380-480A |660-720Y | 9.9A/5.71Y 275 -410 480 74
29 30

MINGHAQ MINGHAD



fidy ©
ShengHong www.twmhkj.com

’ EHS-4 B Zf=ur<+/Single stage mounting dimensions J [ EHS-4 W ZizxR<+/Two stage mounting dimensions
EHS-4 EHS-4
A
| YxZ. YY1 —W—0C
|

B
-
p=

N

.
—

oy I~ :
YT TN 2 | W 5

o
[N
A i /"
i W ®X _— e
£ | = X 5
= ) Y YxZ
120 e ol T ; oy
~—N K N — 'I / :, i S .
F — L w \ e &
" L i \ —
l <-'})_\ i_/
) = 1 > J_
&l = Type #|A|B|C|D|E|F G|H|J|K|L|I[M[N|O| P |Q|4R|[S| U V(1~) | V(1~) | VI(3~) | V1'(3~) | YxZ X-Holes  |§ X |W " K—LM
EHS-419 3~ |334(337[120|260|295(314]160(175]120|115(155| 96 |87 48| 55 |83|14| 4 | Mex17 M25x1.5 | M16x1.5 [M8x20| 0° /120° /240° [200|29 D F
EHS-429-2 | 3~ [334(337(120|260|295|314|160(175[120(115[155| 96 |87 |48| 55 [83|14| 4 | M8x17 M25x1.5 | M16x1.5 [M8x20| 0° /120° /240° [200|29 £
EHS-429 3~ |334(337[120|260(|295|346]191(175[128|115|155| 96 |87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 [M8x20| 0° /120° /240° [200|29
EHS-439 3~ |334|337[120|260|295(346(191(175(128|115|155| 96 |87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 [M8x20| 0° /120° /240° [200|29
EHS-449 3~ |334|337[120|260|295(334[160(175(120|115|155| 96 |87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 |[M8x20{ 0° /120° /240° [200|29
EHS-459 3~ |334(337[120|260|295(334[160(175(120|115(|155| 96 {87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 |[M8x20{ 0° /120° /240° [200|29
EHS-469 3~ |334(337[120|260(295|365]191(175[128|115/155| 96 |87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 |[M8x20| 0° /120° /240° [200|29 B S Type tEL A|A|B|CI[D|E|F|G|H|H|J|K|L|M[N|O|{P|Q4R[S|T | U \ v V1 V1T X | Yz X-Holes W
EHS-479 3~ |334|337[120|260|295|365(191(175(128|115(155| 96 |87 |48| 55 |83|14| 4 | M8x17 M25x1.5 | M16x1.5 |[M8x20| 0° /120° /240° [200|29
EHS-429-2A | 1~ |334(337/120|260|295(314]160]1751120(115|155| 96 |87 148] 55 |83 |14 4 | Max17 | Mi6x1.5 | M25x1.5 M8x20| 0° /120° /240° [200[29 EHS-4336 3~ 3721411371\ 60| 260|295 465(190|175(144|135(115{155| 98{171/48| 55| 83| 14| 4|116| MBx17| M32x1.5| M32x1.5| M32x1.5|M32x1.5| 200 |M8x20|51.5%/17.5°/291° 42
EHS-439A | 1~ |334|337|120|260|295[345|191|175|128|115/155| 96 |87 |48| 55 |83 14| 4 | M8x17 | M16x1.5 | M25x1.5 M8x20| 0° /120° /240°|200/29 EHS-4337 3~ |372[411|371|60| 260|295/ 465 190/ 175144/ 135115155 98( 171 48| 55 | 83| 14| 4|116| M8x17 | M32x1.5| M32x1.5| M32x1.5| M32x1.5| 200 |M8x20| 51.5°/17.5°/291°| 42
EHS-429A 1~ |334(337/120|260|295|334|160|175|120{115[155| 96 |87 [48| 55 |83|14| 4 [ M8x17 |M16x1.5 | M25x1.5 M8x20|0° /120° /240° |200[29
S oA {251 155717561260 (256 365 (157 1775 iga T ehee 58 62 78] 52 T8 13212 [Weka7 [Wiext 5| MEaiE MBx20| 0° /120° /2407 |200[20 EHS-4346 3~|372(411|371|60| 260|295/ 499 224{175|144|135(115(155 98171/ 48| 55 | 83| 14| 4|116| M8x17| M32x1.5| M32x1.5| M32x1.5| M32x1.5| 200|M8x20|51.5°/17.5°/291°| 42
3l 32

MINGHAQ MINGHAO



www.twmhkj.com

EHS-5 EZ[E451% R #h4k 3AC/ Vacuum compression type curve

EHS-5/3AC (8. Xtk ) SHFEFRAIS KMEESEFIT(IP55 50/60HZ)

EHS-5/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz Compressor Selection Diagram 50 Hz-- E48i£ 2 E & 50Hz

400 400
& T myh ‘ i
;"f' .ﬁ\ 5 "¢ A S S O D S N N O - -~ ot S N S .~ D D N ‘ ...... 300
. L ‘5,= 2200+t I Y O i . -8 A o, = N A A O 200
4 ﬁ 22 4 ‘ ‘ 22 ‘
8 100 | C-?/'};%’ﬁ L e o2 | 1L 100
S .
: 3 | | [ TTTTs
300meer 250 200 150 100 50 0 50 100 150 200 250 300 mber
5 Vacuum( E= R Total pressure difference Ap/ BEZE A Vacuum( E45 / IEJE
NE E] Dk e S 2x e i e . - (E=/fE) p P p (E4R/IEE)
Ersanc) |28 | BmE | m= B Sk | ABnE | ASES) | ERED |
Model single |frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight
ode
double HZ KW V A m3/h mbar mbar db(A) Kg
50 1.6 | 200-240A | 345-415Y | 8.5A/4.9Y 265 -170 180 68
EHS-519 L} 25
60 205 | 220-275A | 380-480Y | 8.8A/5.1Y 315 -180 190 70
i % 50 22 | 200-240A | 345-415Y | 9.7A/[5.6Y 265 -235 220 69 - I 490 o
B 60 255 | 220-275A | 380-480Y | 10.3A/6.0Y 315 -245 230 72 M 300 | 300
50 3 200-240A | 345-415Y | 125A/7.2Y 265 -280 280 69 2
EHS-549 L} 34 - N 285
60 3.45 | 220-275A | 380-480Y | 12.5A/7.3Y 315 -260 270 72 £ 200 PEE= G 200
@ i
50 1.6 | 200-240A | 345-415Y | 85A/4.9Y 345 -125 125 70 8 ass 206 =2
EHS-559 L} 26 100 525 : 100
60 205 | 220-275A | 380-480Y | 8.8A/5.1Y 415 -105 130 73 F o4
EHS_529_9 & 50 22 | 200-240A | 345-415Y | 9.7A/5.8Y 345 -200 195 70 - :6% 0 | | _ _ | _ _ | | Lo
60 255 | 220-275A | 380-480Y | 10.3A/6.0Y 415 -170 195 73 300mear 250 200 150 100 S0 0 50 100 150 200 250 300 moer
50 3 200-240A | 345-415Y | 125A/7.2Y 345 -240 220 70 N ,
EHS-569 i=:} = 545 | 2a0-z7sh. | 8802807 | 128 AT AV o g p =5 35 Vacuum( B2/ fafE) Total pressure difference Ap/ BEZEApP Vacuum( E48 / IEE )

33

MINGHAQ

34

MINGHAD



3ty °

hengHong

\ EHS-5 EZf=uRr<+/Single stage mounting dimensions ‘

EHS-6/3AC

(BN SHRETZRBE SR MESEHIFT(IPSS 50/60HZ)

www.twmhkj.com

EHS-6/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

A
| YxZ  yv1 —tWr—G
vV V1
] 2 /D
| |
o 5
Ey :
= Y xZ /\ >,
o N I e A
M) @ X
/]
é L -y
i <
O
* 1]
120
~—N K M—
F
B 2 Type ZEL AlB|lc|D|E|F|la|H|u|K|L|IM|N|O| $P|QlsR[S]| U V(1~) | V'~ | vi@~) | vite-) | Yxz X-Holes |4 X|w
EHS-519 3~ |360|366|122|284 |325|354 191|192 |128 [140|180| 64 |74 |56| 56 |93|13|4.5| MBx17 M25x1.5 | M16x1.5 |M8x20(0° /120° /240°|226|29
EHS-539 3~ |360|366|122|284 325|354 191|192 |128 [140|180| 64 |74 |56| 56 |93 |13 |4.5| MBx17 M25x1.5 | M16x1.5 |M8x20(0° /120° /240°|226|29
EHS-549 3~ |360|366|122|284 325|385 |188|192|135 [140[180| 64 |74 |56| 56 |93 |13 |4.5| MBX17 | M32x1.5 | M32x1.5 M32x1.5 [M8x20|0° /120° /240° |226|42
EHS-559 3~ |360|366(122|284|325|372|191[192|128|140[180| 64 |74 (56| 56 |93 |13 |4.5| MBX17 M25x1.5 | M16x1.5 |M8x20(0° /120° /240°|226]|29
EHS-520-9 | 3~ |360|366|122|284|325(372|191|192|128[140|180| 64 | 74|56| 56 |93 |13 |4.5| Mex17 M25x1.5 | M16x1.5 |M8x20(0° /120° /240°|226]|29
EHS-569 3~ |360|366|122|284 325|403 |188|192|135 [140[180| 64 |74 |56| 56 |93 |13 |4.5| MBx17 | M32x1.5 | M32x1.5 M32x1.5 [M8x20|0° /120° /240° |226|42
35

MINGHAQ

s B DIAFESE R®RA HE #E 8 =8
7 3 3 5 & =
Medel single | frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight

double HZ KW V A m?/h mbar mbar db(A) Kg

EHS-529 & 50 2.2 200-2404A | 345-415Y 9.7A/5.8Y 318 -210 200 69 a1
60 2.55 220-275A | 380-480Y 10.3A/6.0Y 376 -210 200 72

EHS-629 50 3 200-2404 | 345-415Y 12.5A/7.2Y 318 -270 290 69 36
60 3.45 220-275A | 380-480Y 12.5A/7.3Y 376 -250 230 72

EHS_639 B 50 4 345-415A | 600-720Y 9.0A/5.5Y 318 -290 390 69 40
60 4.6 380-480A | 660-720Y 9.0A/5.2Y 376 -330 330 72
50 2.2 200-240A | 345-415Y 9.7A[5.8Y 320 -220 210 73

EHS-6326

R 60 2.55 220-275A | 380-480Y 10.3A/6.0Y 380 -170 150 76 43
50 3 200-2404A | 345-415Y 12.5A/7.2Y 320 -280 260 73

EHS-6336 48
S » 60 3.45 220-275A | 380-480Y 12.8A/7.3Y 380 -230 200 76
50 4.3 345-415A | 600-720Y 10A/5.2Y 320 -360 380 73

EHS-6346 54
R 60 4.8 380-480A | 660-720Y 10.4 A/6.0Y 380 -350 320 76
50 5.5 345-415A | 600-720Y 13.3A07.7Y 320 -440 500 73

EHS-6355 R 60 6.3 380-480A | 660-720Y 13.3A07.7Y 380 —440 500 76 %
50 7.5 345-415A | 600-720Y 16.7 A/9.6Y 320 -440 570 73

EHS-6375 74
S R 60 8.6 380-480A | 660-720Y 17.3A/10.0Y 380 —460 660 76
50 2.2 200-2404A | 345-415Y 9.7A[5.8Y 420 -170 170 70

EHS-649 " 60 2.55 220-275A | 380-480Y 10.3A/6.0Y 500 -160 150 73 %2
50 3 200-2404A | 345-415Y 12.5A/7.2Y 420 -220 220 70

EHS-659 s 60 3.45 220-275A | 380-480Y 12.6A07.3Y 500 -200 190 73 o

EHS—669 & 50 4 345-415A | 600-720Y 9.0A/5.2Y 420 -260 310 70 43
B 60 4.6 380-4804A | 660-720Y 9.0A/5.2Y 500 -260 280 73

EHS—6445 50 4 345-415A | 600-720Y 9.0A/5.2Y 500 -150 140 74 54
. R 60 4.6 380-480A | 660-720Y 9.0A/5.2Y 600 -100 90 78

EHS—-6455 W 50 55 345-415A | 600-720Y 13.3A07.7Y 500 -240 260 74 69
B 60 6.3 380-480A | 660-720Y 13.3A07.7Y 600 -210 200 78

EHS—B475 50 7.5 345-415A | 600-720Y 16.7 A/9.8Y 500 -240 320 74 75
3 R 60 86 380-480A | 660-720Y 17.34/10.0Y 600 -270 300 78

MINGHAO /



3ty °

hengHong

EHS-6 Ex[E451% 8 #h4k 3AC/ Vacuum compression type curve

37

MINGHAQ

Vacuum Selection diagram 50 Hz--E 2 #EE E & 50Hz

Suction Capacity A —

Suction Capacity BN\ & —

600
mih
500
400
300
200
100

0

700
i h
500
400
300
200
100

0

600

myh
500
400
300
—200
100

500 mbar 400 300 200 100 0 100 200 300 400 500 600mbar

| 557 5)

Vacuum( BE= /A% ) Total pressure difference Ap/ BEZE Ap Vacuum( E48 / IE/E )

e

700

v/ h
—600
—500
400
300
=188 L | 200
! | el 100

i —0
600 700 mbear

867

500 mbar 400

Vacuum( B= [ Ak ) Total pressure difference Ap/ BEZE Ap Vacuum( [E48 / IE/E )
il o=

Compressor Selection Diagram 50 Hz--E4ai£ B E 3k 50Hz

J

I EHS-6 EZf=ur++ /Single stage mounting dimensions

www.twmhkj.com

YxZ V&Y, 1\—— W G
V V1
| LR ™
[ | [ A
) _ . 7
= Yl /\ .
[aa] =4 e I [ (N S e
- ?X
/|
>< L =
S
F o .-
o
* .
120
~—N K M—
F
B S Type ZEL AlB|C|D|E|F|G|H|J|K|L|M|N|O|fP|Q|fR|S| U V(1~) | V(1<) | VI(8~) |VI'(8~) | YxZ X-Holes |[§X|W
EHS-529 3~ [382(384[125|290(325|377 (191|197 [128(140|180| 84 [109|54 | 55 | 83 | 15 |4.5| M8x17 M32x1.5 M10x20|0° /120° /240° 240 |29
EHS-629 3~ [382(384[125|290(325|409(188|197 [135(140[180| 84 [109|54 | 55 | 83 |15 |4.5| MBx17 | M32x1.5 | M32x1.5 | M25x1.5 | M32x1.5 |M10x20|0° /120° /240° 240 |42
EHS-639 3~ [382(384[125|290(325|432(209|197 [148(140|180| 84 [109|54 | 55 | 83 |15 |4.5| MBx17 | M32x1.5 | M32x1.5 | M25x1.5 | M32x1.5 |M10x20|0° /120° [240° 240 (42
EHS-649 3~ (382|384 (125|290 (325|387 (191|197 |128(140[180| 84 [109|54 | 55 | 83 |15 |4.5| MBx17 | M32x1.5 | M32x1.5 | M25x1.5 M10x20|0° /120° /240°|240 |29
EHS-659 3~ [382(384[125|290(325|419(189|197|135(140[180| 84 [109|54 | 55 | 83 |15 |4.5| MBx17 | M32x1.5 | M32x1.5 | M25x1.5 M10x20|0° /120° /240° (240 |42
EHS-669 3~ [382(384[125|290(325|440(209|197 [148(140|180| 84 [109|54 | 55 | 83 |15 |4.5| MBx17 | M32x1.5 | M32x1.5 | M25x1.5 | M32x1.5 |M10x20|0° /120° /240° 240 |42
EHS-629A | 1~ |382|384|125(290|325|377|191(197 [128(140(180| 84 |109| 54| 56 |83 |15 |4.6| M8x17 M25x1.5 | M16x1.5 [M10x20|0° /120° /240°|240 |29
38

MINGHAD



#ity ©

ShengHong www.twmhkj.com

‘_ EHS-6 W& #=xR<+ /Two stage mounting dimensions ’ EHS-6 W =2Rr++/Two stage mounting dimensions

5 A £ —=
4?2
YxZ.
~ e ; P
YxZ >\ i ] YxZ N2
s ,\(/ ¢ i .
! T &
o g : S I N N (S N O X
- \ ./ (':\,? >
2N o rol';
o, & i > L
g j/ s - 120
] : 1= j
~hd
N K—+M
_—M—-
ﬁ%TypeﬁAA’BCDEFGHH’JKLMNO;PCMHST U v V' V1 v x| vxz X-Holes  |W
B SType (#fi| A|B|C|C|D|E|F|G|H|[J|K|L|M|N|O|{¥|Q] JR]|S U v X | yxz X~Holes

EHS-6326 |3~ |426|426|410| 63 |290|325|473/191|197|162[128|140/180| 84 |205|53 55|83 |15|4.5/130| Mex17 [M25x1.5 |M16x1.5|M32x1.5|M32x1.5|240|M10x20[51.5°/171.5°/291 5°[29
EHS-6336 |3~ |426|426|410| 63 |290(325(496|188|197|162/135 140|180 84 |205|53|55(83|15|4.5/130| M8x17 | M25x1.5 |M32x1.5 |M32x 1.5 |M32x1.5 [240|M10x2051.5° 1171.5°/291 5°|42 EHS-6445 | 3~ [420 | 469 | 125 2901325526 | 200|197 | 1451 140 | 180 | 84 1205153 | 55 | 83 | 15 |64.5 MBx17|4dMiG2x1.5 | 240 | M10x20|0° /120° /2407
EHS-6346 |3~ |426|426|410| 63 |290|325/526|200|197|162[148[140/180| 84 |205|5355(83|15(4.5/130| Mex17 [M25x1.5 |M32x1.5|M32x1.5|M32x1.5|240|M10x20|51.5°/171.5°/291 5°[42 EHS-6455 | 3~ | 420 | 469 308 | 200 | 325 | 571 | 226 | 257 | 167 | 140 | 180 | 200 | 205 | 153 | 55 | 83 | 15 |64.5|M8x17| 4xM32x1.5 | 240 [M10x20 | 0° /120° j240°
EHS-6355 |3~ [426|426|410|154|200|325|571|226(197(162[167|140/180|200|205|53 55|83 |15|4.5 130 Mex17 [M25x1.5 |M32x1.5 |M32x1.5|M32x1.5|240|M10x20[51.5°/171.5°/291 5°[42 s gt | G | 430 | 469 / AL A L N S S ) - O — - ) o U— SO, ——— I———— . N ————
EHS-6375 |3~ |426|426|410|154|200|325/571|226(197|162[167|140/180|200|205|53 55|83 |15|4.5130| Mex17 [ M25x1.5 |M32x1.5 |M32x1.5|M32x1.5|240|M10x20|51.5°/171.5°/291 5°[42

39 40

MINGHAQ MINGHAD



www.twmhkj.com

= — P = ok S v = o = I = = ok P
EHS-6/3AC (8. =% ) SHETRE S KMESHFR(IP55 50/60HZ) TS~ o EHS-7/8/3AC (B WFK ) SHEZRE S KMHaES# 3= (IP55 50/60HZ)
‘ EHS-6/3AC (Single,three impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ) New products EHS-7/8/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)
28 (EHS PR DX FESE =K ME HE e =5 e PR DiXHESH =KX BE BE . =8
g - T : = = N =]
o) | BB | mE | p= B R | HRRE | ASE) ERES EHsanc) | B8 | #E | oE S Bk | HRRE | ASES | KEAES
double single |frequency | power voltage current | Max airflow |[rated Vacuum|rated compress| noises weight deuble single | frequency | power voltage current | Max airflow |[rated Vacuum|rated compress| noises weight
double HZ KW V A m3/h mbar mbar db(A) Kg double HZ KW V A m2/h mbar mbar db(A) Kg
50 3 200-240A | 345-415Y | 12.5A/7.2Y 540 -180 170 81 50 40 | 345-415A | 600-720Y | 9.5A/55Y 530 -200 200 70
EHS-679 =] 47 EHS-719 ;-] 54
60 3.45  [220-275A | 380-480Y | 12.6A/7.3Y 635 -120 130 83 60 46 | 380-480A | 660-720Y | 9.5A/5.5Y 620 -160 160 74
50 43 345-415A | 600-720Y | 11A/6.5Y 540 -210 200 83 50 55 | 345-415A | 600-720Y | 12.9A[7.4Y 530 -300 300 70
EHS-689 ] 50 EHS-729 I::] 63
60 48 380-480A | 660-720Y | 12.5A/7.2Y 635 -150 140 85 60 6.3 | 380-480A | 660-720Y | 12.9A/7.45Y 620 -320 280 74
50 75 | 345-415A | 600-720Y | 16.7A/9.6Y 530 -320 430 70
EHS-829 -] 66
60 8.6 | 380-480A | 660-720Y | 17.3A/10.0Y 620 -350 400 74
50 55 | 345-415A | 600-720Y | 13.3A[7.7Y 520 —240 240 74
A EHS-8309 il 83
EHS-6 | YxZ  yV1 <t W—G— 60 6.3 | 380-480A | 660-720Y | 13.3A[7.7Y 620 -170 160 78
\ VRN EELEa - 50 75 | 345-415A | 600-720Y | 16.7A/9.6Y 520 -400 400 74 -
W ”“"'\ | [ o /D - 60 86 | 380-480A | 660-720Y | 17.3A/10.0Y 620 ~360 330 78
- - "
[am] 3 i R =
BN/ ,_,J S B YxZ /\ 2. BB i 50 11.0 | 345-415A | 600-720Y | 28.0A/16.2Y 520 430 600 74 i
2 = ol 60 126 | 380-480A | 660-720Y | 29.0A/16.7Y 620 —460 600 78
' Q e 50 15 | 345-415A | 600-720Y | 32.5A/18.8Y 520 —460 670 74
< = T ay EHS-8316 b 120
s [T 60 17.3 | 380-480A | 660-720Y | 34.5A/19.9Y 620 -490 750 78
L) — E
<] 50 40 | 345-415A | 600-720Y | 9.5A/55Y 700 -150 140 70
i o EHS-839 i=:] 57
N K M 12 60 46 | 380-480A | 660-720Y | 9.5A/5.5Y 840 -90 90 74
. M—-
50 55 | 345-415A | 600-720Y | 12.9A/7.4Y 700 -200 180 70
F EHS-849 B 66
60 6.3 | 380-480A | 660-720Y | 12.9A/7.45Y 840 -180 180 74
. & 50 75 | 345-415A | 600-720Y | 16.7A/9.6Y 700 -270 260 70 -
BSType (| A (B | C|D|E|F |G| H|J|K|L|[M|N|O[|Q]|R|S U v £X YxZ X~Holes - 60 86 | 380-480A | 660-720Y | 17.3A/10.0Y 840 -270 260 74
" 5 EHS_ 8410 = 50 7.5 | 345-415A | 600-720Y | 16.7A/9.6Y 900 -200 180 74 o
EHS-679 | 3~ | 426 | 447 | 145|305 | 332 | 437 | 230 | 243 | 148 | 155 [ 235 | 128 | 129 | 45 |G24yp| 79 | 12 | 6 | M8x17 | M32x1.5 | 262 | M12x20 | 0° /120° /240° -
1 i X / / 60 86 | 380-480A | 660-720Y | 17.3A/10.0Y 1050 -150 120 78
EHS-689 3~ | 426 | 447 | 145 | 305 | 332 | 467 | 230 | 243 | 148 | 155 | 235 | 128 | 129 | 45 |G2ip| 79 | 12 | 6 | M8x17 | M32x1.5 | 262 | M12x20 | 0° [120° [240° EHS—8415 x 50 11.0 | 345-415A | 600-720Y | 28.0A/16.2Y 900 —-280 370 74 110
60 126 | 380-480A | 660-720Y | 29.0A/16.7Y 1050 -310 350 78
15 | 345-415A | 600-720Y | 32.5A/18.8Y 900 -300 390 74
EHS-8416 bl 126
60 17.5 | 380-480A | 660-720Y | 34.5A/19.9Y 1050 -330 370 78
4| 42

MINGHAQ MINGHAO



/iengﬂong www.twmhkj.com

1

% - 7=k Rl 4 - , - - - -
EHS-7/8 HEE AR5 Al% 3AC/ Vacuum compression type curve EHS-8 #%zzr+/Single stage mounting dimensions
Vacuum Selection diagram 50 Hz--E 2 & B E & 50Hz Compressor Selection Diagram 50 Hz--E4gi£ B E 3k 50Hz -
1000 - - - 1000 F :
myh mi¥h pR—
T 800 800 I W
5 YxZ
600 ~ | 600
% 400 s \\\._‘C‘J s 400 I ¥ —\ TaZ ‘]209
@ . | by ! ! 1
§ hh-)_‘\-'-(33%_‘ﬂ_‘_‘_—_-c;'j_-_-_-_-_'_'_‘—-—-—-‘_‘O._ L T
5 200 | 2200
'g' 75 e 1 I R
@ o ——! | L | | | | | | ‘ | | | | Ll p [ m] g é-f
500 mpar 400 300 200 100 0 100 200 300 400 500 600 700 mbar =4
I
>
Vacuum( E= / A% ) Total pressure difference Ap/ BEZEAp Vacuum( E45 / IEE ) b = . /
s o ] ~d__
I! | 120
C
w =—N K M
L._L_...
F
1200 350
I el h ‘ i h
w 0P || ] | W e
s
g 800 | ] | N N D A N N A . aﬁ_ww 223
Fy 1 | [ ] Al 8116
g 8 128 o i;%%’" 150 B S Type [#f| A|A|B|B|C|D|E|F|F|G|H|H|J|[K|L|M|[N|N|O| P [R]S v Wl ix| yxz X~Holes
S 400 86, | — | 8o Eera- 12
8 L | BE 46 _‘—-U-—-_.___________? 100
E 50q A _re 38| 7 & EHS-719 | 3~ |451 461|509 | 152 | 356 | 394 | 433 | 450 | 230 | 240 148 (170|217 | 140 | 124 65 |G242 | 15 | 6 |4xM32x1.5| 42 | 286 |M12x20|0° /120° /240°
5 !
g 5 _ ||| | _ _ _ _ | _ G EHS-729 | 3~ |451 461|509 | 152 | 356 | 394 | 433 | 477 | 226 | 240 167 | 170|217 | 140 | 124 65 |G242 | 15 | 6 |4xM32x1.5| 42 | 286 |M12x20|0° /120° /240°
(5] [
500 mbar 400 300 200 100 0 100 200 300 400 500 600 700  BOOmoer EHS-829 3~ | 451 461|509 | 152 | 356 | 394 | 433 | 447 | 226 | 240 167 | 170 | 217 | 140 | 124 65 [G242| 15 | 6 |4xM32x1.5| 42 |286|M12x20|0° /120° [240°
EHS-839 | 3~ |451 500 | 509 | 152 | 356 | 394 | 449 | 466 | 230 | 240 148 (170|217 | 139 | 164 65 |G242| 15 | 6 |4xM32x1.5| 42 | 286 |M12x20|0° /120° /240°
\% == Total pressure difference Ap/ BEZEA \' 4
acuum( Rz / R ) P o BE®AP acuum( B4R / EH“)... EHS-849 | 3~ | 451 500 | 500 | 152 | 356 | 394 | 449 | 492 | 247 | 240 167|170 |217 | 139 | 164 65 | G242 | 15 | 6 [4xM32x1.5| 42 |286|M12x20| 0° /120° /240°
EHS-859 | 3~ |451 461|509 | 152 | 356 | 394 | 449 | 492 | 247 | 240 167 | 170|217 | 139 | 164 65 |G242 | 15 | 6 |4xM32x1.5| 42 | 286 |M12x20|0° /120° /240°

43 44

MINGHAQ MINGHAO



#ity ©

ShengHong

| EHS-8 WFzsrst/Two

"
A
=

stage mounting dimensions

M
| > o 4
[aaas] L5,
.
b
S
1
L e
i ot i
P 120
< Hﬁi////
% S Type |ffi| A | A’ P |iR|S Vv w|ix | vxz X-Holes
EHS-8309 | 3~ |500(549 (500|509 | 76 |356 (394|545 589 | 226 | 240 | 199 | 167 | 170|217 236 | 84 | 65 |G2:2| 15 | 6 |4xM32x1.5| 42 | 286 |M12x20|51.4°1120° /240°
EHS-8310 | 3~ | 500|549 (500|500 | 76 |356 | 394|545 |589 | 226 | 240 | 199 | 167 | 170|217 236 | 84 | 65 |G212| 15 | 6 |4xM32x1.5| 42 | 286 |M12x20 |51.4° /120° 1240°
EHS-8315 | 3~ | 500|549 (500|500 | 76 |356 | 394|694 | 717 [318 | 240 | 199 | 197 | 170|217 212| 84 |105|G2:z| 15 | 6 |4xM40x1.5| 54 | 286 |M12x20|51.4°1120° /240
EHS-8316 | 3~ | 500|549 (500|500 | 76 |356 | 394|694 | 717 [318 | 240 | 199 | 197 | 170|217 212 | 84 |105|G24p| 15 | 6 |4xMa0x1.5| 54 | 286 |M12x20 |51.4°/120° /240°

‘ EHS-8 W £ %2R+ /Two stage mounting

dimensions ‘

www.twmhkj.com

&
C_:J . o — e ———— o — . e c— - p——
e
- /
S )
B — |
11
N K— M
L g
_)— = |
>/
:I lll Q‘/\_ ™ L]

M — —120
ﬂ%TypeEABCC‘DEFGHJKLMNOfPfHSVW}XYXZ X-Holes
EHS-8410 | 3~ | 500 | 550 | 152 356 | 394 | 580 | 247 | 300 | 167 | 170 | 217 236 | 125 | G2y | 15 | 66 | 4xM32x1.5 | 42| 286 |M12x20 | 0° /120° /240°
EHS-8415 | 3~ | 500 | 550 336 | 356 | 394 | 694 | 318 | 300 | 197 | 170 | 217 | 312 | 212 | 165 | G2y | 15 | 66 | 4xM40x1.5| 54| 286 | M12x20 | 0° /120° /240°
EHS-8416 | 3~ | 500 | 550 336 | 356 | 394 | 694 | 318 | 300 | 197 | 170 | 217 | 312 | 212 | 165 | G2, | 15 | 66 |4xM40x1.5| 54| 286 | M12x20 | 0° /120° /240°

46

MINGHAD



EHS-9/3AC

5ty °

(B WK ) SMAETRE SR MRESHFR(IP55 50/60HZ)

EHS-9/ 3AC (Single,double impeller) Gas ring vacuum pump models and the performance parameters table (IP55 50/60HZ)

www.twmhkj.com

EHS-9 EZ[E451%R #h4k 3AC/ Vacuum compression type curve

ag P2 DAMESH BX oz o e | =m
(EHS??AC) R R e HBE B HR R HEES E4EN _ _
Model single |frequency | power voltage current | Max airflow |rated Vacuum |rated compress| noises weight
double HZ KW V A m3/h mbar mbar db(A) Kg
Eis-ot | 558 | sooieon] teoraov | issanosy | iz 560 o0 D 93
Eis-020 | # s 148 | soocion| eeoroov | saoanery | oo 570 %0 7 e
EHS-00 | % 5|75 | amo-do | oeo-7e0v | ansa/arov | izeo 30 % % 120
EHs-o30 | % s ors | swoioon | teoroov | ssoamsey | iaso 360 20 D 128
EHS-020 | R o 45 | 0408 | eco-r20v | s908/167v | 1310 220 20 7 187
EHs-9%22 | W 5| | ao-do |oeo-yeov | asaszrov | iaio S50 % 5 197
EHS-0325 | W ® 25 s0-4604 | o00-7207 | 4200242 | 1310 7 Foy 6 204
EHS-9326 | W ® 25— ss0-4804 | -s00-7207_| 8208000 | 1310 o 0 6 211
Eis-od0 | s 5s | soocion| seoroov | iasanosy | e E i) i o
EHs-050 | % 5T i4s | am-ioon | cer-7aov | s90AERRY | ieed “70 i % 121
EHs-oey | & s o1s | swoieon| seoroov | ssoamsey | e =200 250 a0 191
EHS-9410 | W o175 | eo-d0 | eco-r20v | se8aeior | 2o ) ) i 187
EHS-0415 | R 5 25| apo-d0 | oe0-720v | 420427 | 2310 i 0 o 212
BHS-0418 | W ® 25— ss0-4804 | 600-7207_| 82065000 | 2510 70 220 i 219
e I e = e
oeaes | m | o2 | senefommr feemor =0 o > i
oo | m 2|5 | tesefoemr{uema] = = ]

47

MINGHAQ

Vacuum Selection diagram 50 Hz--E 2 & E E & 50Hz

Compressor Selection Diagram 50 Hz-- [E4gi% & B & 50Hz

2500 2500
mi h i h
T 2000 2000
L) 15
% 1500 oML - 1500
£ 1000 | St L et 1000
8 o(25) 165 WE-— 165 T 1%
5 500 o 1 - T, 500
g 5 fies | i 5
500 mbar 400 300 200 100 0 100 200 300 400 500 600mbar
Vacuum( E=2 / 1% ) Total pressure difference Ap/ BEZEAp Vacuum( E45 / IEJE )

1 2500 2500

mih mih
i 2000 2000
é 1500 1500
£ ; 2
§ 1000 |- 1T v O 1000
ég an ‘ ) ‘_‘-::§>h_ﬁ‘_‘_‘?;§)_ﬂ-__<%|3 =
c 500 500
o
£ |
(3 0 ! i { 1| i | i 4 { { 0

500 mibar 400 300 200 100 0 100 200 300 400 500 600 mbear
Vacuum( B/ AE) Total pressure difference Ap/ BEZEApP Vacuum( E48 / IE% )

48

MINGHAD



g ©

ShengHong

www.twmhkj.com

LEHS—? W =eR<+ /Two stage mounting dimensions

\ EHS-9 B Zf=ur</Single stage mounting dimensions

F
A 5 [ A
! . ,?. F
[an) (g:z) YxZ ﬂ ™ VV \ (;
| —
= o ©)
] = | 1o 7| [ W
i = /D/ l ) YxZ rjj.
N \vi YxZ =D
L
= .
T — T T T T 71T .
(=)
m >< ?X o~ 2] EDX——“"i
U = e i
I |’< > '
! O 'l @ R o e m
o [NMel o™ MmN 120 E 60_3,/
+ I | [ . 1 T Sl S
= v N~ M
C N M
D F
E =
B S Type |#Bfi| A | B |BI|C|C'|D|E|F|F|F'G|H|J|[K|IM|N|O||Q|R[S| U Vv W X | YxZ X-Holes # 5 Type *ﬁ% Ala|B|Bl C |C|D|E|F[F|F|G|H|H|J|K|M|N|O|/P|QR|S|T| U v WX | Yxz X-Holes
EHS-019 |3~ |550|569| 55 | 207| 15 (360 415|526 644 605(266|800|167]553) 39 |89 | 52 | 100) 150 15 | 21 | M12X50{4xM32x1.5| 421450 |M12x20/|0° M20° 240 EHS-9320 |3~ |615|780|607|16|103.5| 15 |360|415|752| 786|634|345|300|234|197|533| 39 |230| 92 [100[150| 15 | 21 |117|M12x30| 4xM40x1.5 | 54 | 490 |M12x30 |51.4°/120°/240°
EHS-929 | 3~ |550|569| 55 |207| 15 |360|415|611|644 |605 |345|300(197 |533| 39 | 89 | 92 |100|150| 15 | 21 | M12x30 |4xM32x1.5| 54 | 490 |M12x20| 0° [120° [240°
EHS-939 | 3~ (550|569 | 55 | 207 | 15 |360|415 /611|644 605 /345|300 /197|533 | 39 | 89 | 92 1100|150 | 15 | 21 | M12x30 |4xM32x1.5| 54 |490 |M12x20|0° /120° /240° EHS-9325 |3~ |615|780|607|16[103.5| 15 |360|415|752|786|634|345|300|234|197 |533| 39 |230| 92 [100[150| 15 | 21 |117|M12x30| 4xM40x1.5| 54 | 490 | M12x30 |51.4° /120° 240°
EHS-949 | 3~ |550|569| 55 |207| 15 | 360 |415|563 682|643 | 268|300 (167 |533| 39 [127| 92 |100|150| 15 | 21 | M12x30 |4xM32x1.5| 42 {490 |M12x20| 0° [120° [240°
EHS-9326 |3~ |615|780|607|16|103.5| 15 |360[415|812|786|634|405|300|234|197|533| 39 |230| 92 [100[150| 15 | 21 |117|M12x30| 4xM40x1.5 | 54 | 490 |M12x30 |51.4°/120°/240°
EHS-959 | 3~ |550|569| 55 |207| 15 | 360 |415|649 |682|643 | 345|300 (197 |533| 39 [127| 92 |100|150| 15 | 21 | M12x30 |4xM32x1.5| 54 {490 |M12x20| 0° [120° [240°
EHS-969 | 3~ |550|569| 55 |207| 15 | 360 |415|649 |682|643 | 345|300 (197 |533| 39 [127| 92 |100|150| 15 | 21 | M12x30 |4xM32x1.5| 54 {490 |M12x20| 0° [120° [240°
49 50

MINGHAQ

MINGHAD




#ity ©

ShengHong www.twmhkj.com

‘ EHS-9 W2 &% R~ Two stage mounting dimensions | ‘ EHS-9 W4 &% R~F  Two stage mounting dimensions ‘

- AP = .
Q
FUB-Foot 1 N t%‘/

A
F
= @ G A
YxZ n W ‘ ‘ i
l = L
\O ( YxZ /D/
el ' %
y /\ 2,
t) :
m I B e B Bt —-—t— Q\— O
o s
e V-
T S - o] 8 <
N O o
< [ - - I \
- A
L - | ~1 ] §
—
.._N K
F.
| | |
I S %_o;»
YRz
B SType 8kl A [B|B1|C |C'|D|E|F|F|G|H|J|K|M[N|[O]||Q|JR]|S u Y WX | yxz X—Holes
= ’ LI ) ]
EHS-9410 | 3~ | 615|657 | 16 [207 | 15 | 360|415 |752|786 | 345|350 | 197 |533 | 39 | 280|142 | 100|140 | 15 | 71 |M12x35|4xM40x1.5| 54 | 490 | M12x30 | 120° /60° /60° s Type | 1L A B C D | E F | F F G P P { Q|3 U v w YxZ
EHS-9420 3~ 615 | 723 | 307 | 490 @ 526 | 1201 | 848 | 578 | 291 | 219 | 135 | 201 | 58 | M8x40 4 x M40x1.5 54 M12x10.5
EHS-9415 | 3~ | 615|657 | 16 [207 | 15 | 360|415 | 752|786 | 345|350 | 197 |533 | 39 | 280|142 | 100|140 | 15 | 71 |[M12x35|4xM40x1.5| 54 | 490 |M12x30 | 120° /60° /60°
P % o EHS-9425 3~ 615 | 723 | 307 | 490 @ 526 | 1201 | 848 | 578 | 291 | 219 | 135 | 201 | 58 | M8x40 4 x M40x1.5 54 M12x10.5
EHS-9418 | 3~ | 615|657 | 16 [207 | 15 | 360|415 (812|786 | 345|350 | 197 |533 | 39 | 280|142 | 100|140 | 15 | 71 |M12x35|4xM40x1.5| 54 | 490 | M12x30 | 120° /60° /60° EHS-9426 3~ 615 | 723 | 307 | 490 | 526 | 1201 | 908 | 578 | 351 | 219 | 135 | 201 | 58 | M8x40 4 x M40x1.5 54 M12x10.5
=] 52

MINGHAQ MINGHAO



j ®
?ﬂ;&lgﬁm ' www.twmhkj.com

EHS2/1AC( B4 ) SMETRE S Rt aESH3R (IP55 50/60HZ)

EHS2/1AC(Single impeller) Gas ring vacuum pump models and the performance parameters table(IP55 50/60HZ)

Vacuum Selection diagram 50 Hz—E % B E| 3 50 Hz

200 - 100
T m¥h | mh
# 80 5 - 80
< i
w80 ~ = 60
.E‘-" //....---!:H | B
g 40 et e = 40
S s e e T [ it |
= 20 et — =1 = 20
. L~
S 1818 b 840/8-// - 0
vl
500 mbar 400 300 200 100 0 700 mbar
& e i X T e - - Vacuum Selection diagram 60 Hz—R =% B E] 3k 60 Hz
Gy | B | mE | ;= R Bk | HRAR | ASEH | ERESN z
% HZ Kw v A ms/h mbar mbar dB(A) Kg . 120
50 055 200-240V 3.1 47 -230 290 57 L1 N g
EHS2-229A B8 18 T 100 oS S5y 100
60 063 200-240V 71 57 -270 320 62 N gy
50 15 200-240V 9.7 47 -370 600 58 # 80 A G 80
EHS2-239A n 30 < = E.HSJE?'EQ-‘-"{" *‘%52‘2\5@_\\\
60 175 200-240v 103 60 -420 660 62 X 60 > =] olosoh | | g L 60
Z P (e [ k| | b NS
50 094 200-240V 7.6 66 -250 50 57 Z — & , bt
EHS2-249A g - - : - ° ! 18 S 40 = “_,_,,},_..-———*"‘”"":Hsg.z??;t--f"". STl TRl PRI=l | | | | L L1140
60 1.1 200-240V 9 80 -280 390 62 8. = [ = = %\“\. NG ~0l
50 15 200-240V 97 65 -400 550 59 2 20 o O P e B ~ e e 0 O O 20
EHS2-250A bt 32 S 13501 53 | Mo 171 T T
60 1.75 200-240V 10.3 76 -390 540 53 ES i 1.3 0863 0.63 75
50 i 200-240V 10.1 87 -300 380 55 % g 9
EHS-319A L] 23 500 mbar 400 300 200 100 0 100 200 300 400 500 600 700 mbar
60 13 200-240V 10.3 105 -350 390 62

53 54
MINGHAO

MINGHAD /



3ty °

EHS2/3AC( B4 ) SMETRE S Kt EESHK (IP55 50/60HZ)

EHS2/3AC(Single impeller) Gas ring vacuum pump models and the performance parameters table(IP55 50/60HZ)
- 15 Dk HES BA o e ne | B2
zs WE | R R B Bk | HRAER | HSEA FEARE S
(EHS2 3AC)
Model single | frequency | power voltage current | Max airflow | rated Vacuum | rated compress | noises | weight
double HZ KW V A mé/h mbar | mbar db(A) | Kg
50 055 | 200-240A| 345-415Y | 2.8A/1.6Y 47 -230 290 57
EHS2-229 ] 16
60 0.63 | 220-275A| 380-480Y | 3A/N.7Y 57 -270 320 62
50 055 | 200-240A|345-415Y | 2.8A/1.6Y 66 -250 250 57
EHS2-239 -] 16
60 0.63 | 220-275A|380-480Y | 3A/1.7Y 80 -260 250 62
50 0.85 | 200-240A| 345-415Y | 4A/[2.3Y 66 -280 350 57
EHS2-249 ] 17
60 095 | 220-275A| 380-480Y | 4A[2.3Y 80 -340 360 62
50 13 200-240A| 345-415Y | 5.4A/[3.1Y 87 -300 380 58
EHS2-319 ] 23
60 1.3 220-275A| 380-480Y | 5.4A/3.1Y 105 -340 370 62
50 1.6 200-240A| 345-415Y | 7.5A/4.3Y 120 -310 360 64
EHS2-329 -] . 26
60 205 | 220-275A|380-480Y | 7.6A/4.4Y 145 -340 320 68
50 2.2 200-240A| 345-415Y | 11.4A/6.6Y 120 -310 470 64
EHS2-339 ] : . 29
60 255 | 220-275A|380-480Y | 11.2A/6.5Y 145 -360 480 68
50 2.2 200-240A| 345-415Y | 11.4A/6.6Y 165 -340 360 65
EHS2-349 ;] : | 32
60 255 | 220-275A|380-480Y | 11.2A/6.5Y 195 -360 320 71
50 3.3 200-240A| 345-415Y | 13A[7.5Y 165 -340 480 65
EHS2-359 =] 35
60 3.8 220-275A| 380-480Y | 14.2A/8.2Y 195 -380 530 71
55

MINGHAO

Suction Capacity AAE —»

200
mi/h

150

100

[$)]
o

0

www.twmhkj.com

— 200
mi/h
I8
:H@_v’z‘?’“g T
B=sgn .
T | e Bl 100
o= - = iy
| // EHS2- 319 _— Ej So. T~ M\"“‘--.
1. — — =319 S~ 22
3302 |+ " T o223 | Ehsa o) T ~
a— — e = B ___,_,...---"## Ei.—-———""‘ = %Hhm _‘HRHM‘H\([)‘T& 2N ks 50
22(1.6) O e :—-—-""":':—: L —gns2-22 255 --....__,_:"__:-..__‘ Pt | ~~_| 2;0
1107 Q0T —TT| T Gesoe | o
085 <055 ol R o 0
400 mbar 300 200 100 0 100 200 300 400 500 mbar

Vacuun( £ % / fi &)

Total pressure differenceAp/ & & £ Ap

Vacuum Selection diagram 60 Hz—E %1% 2 E 3 60 Hz

Suction Capacity AAE —

200
mi/h

150

100

(42
o

0

Vacuun( &% / E/E)

200
\agl-“gjsg din h
82, m
T e g e 150
" EJ"'S?" D, ~. .
/ / /’4—/ -HQ’)-?l“g " M"-f:‘::“.a o = "“"--..h_‘\ 100
= Sz 79 ~
[ i 39u_!-_)___ T~ -~ 175
285 |+ i ] j.-—-—-"'" #’___,,E”E’ﬂ-}-'g"’" bis2 239&?“&..“ ~O“'~-.._ \‘--.. 813
S e || [y | T
2[05 1| 63 ~—] j
0. 8:3""‘ 06%'_’7”_’ ToEo. losal | | | TE L g
400 mbar 300 200 100 0 100 200 300 400 500 600 mbar

Vacuun( £ % / #i &)

Total pressure difference/Ap/ & & £ Ap

Vacuun( &% / EE)

56

MINGHAD |,



ity ©
ShengHong

Salel - PEEE R Single stage mounting dimensions

EHS2( Mk / =4 ) SHEZRE S K EEESHR (IP55 50/60HZ)

www.twmhkj.com

W—G—
v @
83 |, S
. O &

- g D

O e Ly

X %

-3 — ox—") %

O)| = Yxz
1 Vy
2 0
_ | — 90
PR w
* — i
’ Nk
F

ﬁ%TypeEABBmCDEFGHJKMNOPQ§RS13283TT1u V vV |wlx| Yxz
EHS2-229 3~ | 294|319 39 87 260|298 293 129|167 111|105 | 252 | 65 124 |Gli4| 64 14 | 4 140 | 31 | 105 107 [M6x17 | M25x1.5 | M16x1.5 32 | 153  M6x15
EHS2-239 3~ 313339 |39 94 290| 325|295 [153 | 177 120|105 | 256 | 67 130 |Gl/4| 64 14 | 4 140 | 31 | 114 116 |[M6x17 | M25x1.5 | M16x1.5 | 32 | 153  M6x15
EHS2-249 3~ 313339 |39 94 290| 325|295 |163 | 177 120|105 | 256 | 67 130 |Gl14| 64 @ 14 | 4 140 | 31 | 114 116 [M6x17 | M25x1.5 | M16x1.5 | 32 | 153 @ M6x15
EHS2-319 3~ | 346 | 375| 39 103 315| 350|321 (129|195 111|130 | 260 | 66 143 |Gl14| 64 @ 14 | 4 140 | 31 | 125 127 [M6x17 | M25x1.5 | M16x1.5 | 32 | 167  M6x15
EHS2-329 3~ | 368 |395|39 114 328| 363|361 |185|205 128 |152 | 265 | 68 148 G114 | 64 14 | 5 140 | 31 | 137 138 [M6x17 | M25x1.5 | M16x1.5 32 | 192  M6x15
EHS2-339 3~ | 368|395|39 114 328| 363|361 |185|205 128|152 | 265 | 68 148 G114 | 64 14 | 5 140 | 31 | 137 138 [M6x17 | M25x1.5 | M16x1.5 | 32 | 192  M6x15
EHS2-349 3~ | 418| 455 | 39 127 371| 406|364 |{129|235 111|105 | 271 | 72 172 |G14| 64 | 14 | 4 | 140 | 31 | 153 | 155 [M6x17 | M25x1.5 | M16x1.5 | 32 | 228  M6x15
EHS2-359 3~ | 418 | 455 | 39 127 371| 406|390 |211|235 111|105 | 271 | 72 172 |G114| 64 14 | 4 140 | 31 | 153 155 [M6x17 | M25x1.5 | M16x1.5 32 | 228 M6x15

57

MINGHAO

EHS2/3AC (Double / three impeller) Gas ring vacuum pump models and the performance parameters table(IP55 50/60HZ)
B% SixTESH R®A Mz ME BE | BB
Se: o) BB mE | n= e A | HRAE | HZEH EARES
( Model ‘double | frequency | power voltage current  Max airflow | rated Vacuum | rated compress = noises |weight
 three HZ KW \% A m3/h mbar mbar db(A) | Kg
50 0.85 200-240A/345-415Y | 4A[2.3Y 47 —-370 490 58
EHS2-2301 pud : : : i 24
60 0.95 220-275A/380-480Y | 4A[2.3Y 60 —440 480 62
50 1.6 200-240A[345-415Y | 7.5A[4.3Y 47 -370 650 58
EHS2-2302 Pul 28
60 2.05 220-275A/380-480Y | 7.6A/4.4Y 60 -500 740 62
50 14 200-240A/345-415Y | 5.4A[3.1Y 65 —400 480 59
EHS2-2303 pud i T 29
60 1.3 220-275A/380-480Y | 5.4A/3.1Y 76 —480 480 63
50 1.6 200-240A[345-415Y | 7.5A[4.3Y 65 —440 540 59
EHS2-2304 U 30
60 2.05 220-275A/380-480Y | 7.5A/4.3Y 76 -560 600 63
50 1.6 200-240A[345-415Y | 7.5A/4.3Y 87 -480 450 61
EHS2-3310 Ful i i 33
60 2.05 220-275A/380-480Y | 7.6A/4.4Y 105 —430 410 66
50 3.3 200-240A/345-415Y | 13A/7.5Y 87 -500 750 61
EHS2-3311 U 39
60 3.8 220-275A/380-480Y | 13.8A/8Y 105 -510 850 66
50 2.2 200-240A/345-415Y | 11.4A/6.6Y 120 —470 460 64
EHS2-2312 Pul 40
60 255 220-275A/380-480Y | 11.2A/6.5Y 145 -500 450 70
50 4 345-415 A 95A 120 -500 820 65
EHS2-4330 pud 51
60 46 380-480 A 10A 145 -530 810 71
50 3.3 200-240A[345-415Y | 13A[7.5Y 165 —460 500 67
EHS2-5310 Ful 48
60 3.8 220-275A/380-480Y | 14.2A/8.2Y 195 —480 420 71
50 55 345-415 A 12A 165 —460 740 68
EHS2-6310 P 65
60 6.6 380-480A 11.5A 195 —480 840 72
50 75 345-415 A 16A 170 -730 1040 72
EHS2-7310 Pud 86
60 8.6 380-480 A 16A 200 -700 1040 76
58

MINGHAD



5ty °

www.twmhkj.com

BV N = R=IE R vigidliiiksd 3AC / Vacuum compression type curve SEPBVE RS S Two stage mounting dimensions

Vacuum Selection diagram 50 Hz—E S BIE 3 50 Hz Compressor Celetion Diagram 50 Hz—E 481 B E 3% 50 Hz "
S2
200 . . . T 200 . ® g
1 mé/h mi/h . \&
| il V1
w150 —— — 150 - ||\© N—
= N P
< ; BRed
2 100 . 0 100 1O
201 75
(4] "".——-""r’—‘ h @ o N .
§ 50 S = 50 <
g 02 * ] O —
3 | A &
A 0 _ 0 T
800 mbar 600 400 200 0 200 400 600 800 1000 1200 mbar '
% Vacuun(£Z / fUE) Total pressure differenceAp/ %&£ Ap Vacuun( &5 / ER&) i .
N K—
M
F
200 200
1 mé/h mi/h
=] *ﬁ g
g. 150 - 150 __g-_":TType.&ABBCQDEF‘G H H1| J KM.N.O P |Q|fR[S1[S2(S3| T |TH U. Vv Vi W
= EHS2-2301 | 3~ |313| 326 | 359 |43 | 260| 298|525 | 185 | 167 [272| 128 | 105 | 426 | 241|123 | G11/4| 64 | 14| 4 | 140 | 31 | 105 | 107 | M6x17| M25x1.5 | M16x1.5 | 32
> 100 100 EHS2-2302 | 3~ |313] 326|359 |43 [260] 298|525 | 185 [ 167 [272] 128 | 105 [ 426 | 241|123 |G11/4] 64| 14| 4 [ 140 31 [ 105 [ 107 [M6x17]| M25x1.5 | Mi6x1.5 | 32
S EHS2-2303 | 3~ |331| 345|380 |47 |290| 325|390 | 153 [ 177 (201120 [105 [ 431 243 130 |G11/4 | 64 | 14| 4 | 140 | 31 [ 114 [ 116 | M6x17| M25x1.5 | M16x1.5 | 32
g, EHS2-2304 | 3~ |331| 345|380 |47 [290| 325|421 | 185 | 177 [291]128 | 105 | 431 | 243|130 |G11/4| 64 | 14| 4 | 140 31 [ 114 [ 116 |M6x17| M25x1.5 | M16x1.5 | 32
Y 509 50 EHS2-3310 | 3~ |363| 377 [414 |52 |315] 350529 | 180 | 195 |319] 128 | 130 | 436 | 243 | 143 |G11/4| 64| 14| 4 | 140 | 31 | 125 | 127 | M6x17| M25x1.5 | M16x1.5 | 32
8 EHS2-3311 | 3~ |363| 377 | 414 |52 |315| 350|554 | 211 | 195 [319] 128 | 130 | 436 | 243 | 143 | G11/4 | 64| 14| 4 | 140 | 31 [ 125 | 127 |[M6x17 | M25x1.5 | M16x1.5 | 32
g 0 | | 5 . EHS2-2312 | 3~ |387 | 402 | 435 |57 | 328| 363|549 | 185 | 206 |343| 128 | 152 | 453 | 256 | 148 |G11/4 | 64| 14| 5 | 140 | 31 [ 137 | 138 [ M6x17| M25x1.5 | M16x1.5 | 42
(7]
EHS2-4330 | 3~ |387 | 402 | 435 |57 | 328| 363|603 | 211 | 206 |343| 148 | 152 | 453 | 256 | 148 | G11/4 | 64| 14| 5 | 140 | 31 | 137 | 138 | M6x17 | 2xM32x1.5 | M16x1.5 | 32
800 obar 600 400 200 0 200 400 600 800 1000 1200 mbar EHS2-5310 | 3~ |442| 457 | 495 |63 |372| 406|578 | 211 | 236 |389| 128 | 152 | 458 | 250 | 173 |G11/4 | 64| 14| 5 | 140 | 31 [ 153 | 155 | M6x17| M25x1.5 | M16x1.5 | 42
< Vacuun( £ = / RUE) Total pressure difference Ap/ #J& £ Ap Vacuun( &% / EE) EHS2-6310 | 3~ |442| 457 | 495 | 63 | 372| 406 | 643 | 248 | 236 |389| 148 | 152 | 458 | 259 | 173 | G11/4| 64| 14| 5 | 140 | 31 | 153 | 155 | M6x17| 2xM32x1.5 | M16x15 | 42

59 60
MINGHAO

MINGHAD




i ©

S/’iﬁﬂgﬁ ong

EHS2 =4 &ER~T Three stage mounting dimensions

=N N
{ 1y
)/ 3=
o Us. - — - —- -4
$E=ts T |
LN, i .
& SR 5
w
l L—""\ i
' |
BE Type |2 |A|B|B’C2 G H HI K| M P W1 | W2
EHS2-7310 3~ | 442 402 | 492 63 274 | 236 |389 539 Glis 42 | 120

6l

MINGHAQ

www.twmhkj.com

E AT E XA Turbo Blowers(Centrifugal Blowers)

P
® C1 R 44 o M
® JRIEH o GUETEAM
o MBI, KSHINER o MiiMgk
® 5 R o [EE#H
o TR o RIHiH
HTB B £ Bt
o FHIRM
o kK
o f&;B%
o S H
o — iR

2HTB EREM B R HTB iEd & B =l PF B3

1584

oS, KAE. KEE. EE,

o XAEEEME, NBERREESE, EEE/HNB N,

® SiEHILEC.E (THPRLE ) , £EASNSEMRIESE, Hrkih o%st, THAREREER,
o BHEREE, BHhE. REK, BEFR. SHR,

o KR EAMAM, AEEHBEMS, BESRS (CXTBHIBEA) .

o RATWEEL. HES. RELE,

(SY=4

MINGHAD



3ty °

www.twmhkj.com
ShengHong ]
1B IHTICEXAL Turbo Blowers(Centrifugal Blowers) EBRRE XL Turbo Blowers(Centrifugal Blowers)
at 50HZ
X | B B | K|8B K |®B R | BARE BARE | RA/ME B F | E &
(k) | (REH) (mEES
Type Phase Qutput | Voltage | Current Ppressure(Max.)Air Flow(Max.)| In/Out let |Noise level| Weight
(KW) (V) (A) (kpa) | (m3/min) |  (mm) (dB) (Kg) %)
w
" 1~ 220 15 IN 100 S '
CX-85 3. 0.2 290/380 1.1/0.9 0.7/11 4.5/5.3 OUT 65 50/62 6 g‘ i ' _: E .
s os 220 2.5 I IN 100 | 5 J_liss B | L&,
3 3~ : 220/380 | 1.9/1.2 sl : OuT 75 i ugg_- L 1o, s
1~ 220 5 IN 100 170 _,
L 2-@9 i
CX-75A e 074 | ooomso | 319 1724 | 1315 | - | 64/80 16 o _ 229" 135 7 208 g
IN 125 _ 2 13 ‘ﬁ CX-75A §&
CX-100A 3~ 1.5 220/380 | 5.5/3.5 2/3 20/23 OUT 100 74/90 26 a2 -. CX-75SA
CX-125A | 3 22 | 200880 | &5 | 2457 | sz | N 292 | 1605 36 'J
' T OUT 125
CX-150A 3 3.7 220/380 13/7.5 3.2/4.4 46/53 . 222 80/100 56 gg e ?Ej
- 2 | = OUT 150 CON s 22 s
| | v@ B o |
" I__zw - AT Egr : _245__ 285 K8 S'gf
REF Characreristic curves b g [ _ f | ‘
Mty Pressure ar 50HZ Ity Pressure at 60HZ :8: ' b 0 o
45 45 = ) | 2 5 =
— Do, L | |
30 3.0 - : :
-‘.‘ \ \ -]
- '--.._\\ \\ ﬁm\@ X-I50A
=, JO0A WL ' N M CX-100A
75$A o 7 2
o S [N R | NG Aws;\ 5‘\ CX-125A
0 . cam | 0| X
10 20 30 40 5 10 15 20 25 30 35 40 45 50 55 60 = %ﬁﬁl J 3\ s
HIE Ps K& Air Flow (m3/min) BEE Ps { AT @
kpa kpa K& Air Flow (m3,/min)
HROAEALE 55 B-1
63 64

MINGHAQ MINGHAD



i ©

Stengtong
1B BTUE XL R | K| Y R B E|B R BABE | BARE| MO | R ¥ | E E
(mhiH ) | () A&
Type Phase Output | Voltage | Current |pressursMax)| AirFowMax) | Out let [Noise level| Weight
at 50/60HZ (KW) (V) (A) (kpa) | (m*/min) (dB) (Kg)
TB-201 3~ 0.75 ggg 1:.‘,’8 1.3/2.1 18/22 100mm 70/80 22
220 55
TB-202 3~ 1.5 380 35 2/3 20/25 100mm 70/85 26
220 8
TB125 3~ 22 2.4/3.6 33/39 125mm 80/90 35
380 5
220 13
TB150-5 3~ aq 380 75 3.8/5.3 48/53 150mm 90/95 57
220 19
TB150-7.5 3~ 5.5 380 115 3.8/5.3 50/65 150mm 90/95 66
220 26
TB150-10 3~ 5 380 15.5 3.8/5.3 60/75 150mm 90/95 75
220 26
TB150L-10 3~ 7.5 380 15.5 5/6.5 40/53 150mm 90/100 80
220 36
TB200-15 3~ 11 280 20 5/6.5 65/85 200mm 95/110 130
220 47
TB200-20 3~ 15 380 o8 5(7 90/100 200mm 95/110 140
HBE®R Characteristic curves
6o ot PI'GSS:.IIB a1 S0HZ 75 Mt Pressure at S50HZ
- — ———
0 H\J‘_ﬁﬁ:——"‘:‘—-_‘“"—-ﬁ-—ﬁ T :g;\qﬁlxm-ﬂm
e HHET:ZH=E 55 ::1‘::::“_ ;mimﬁg ~R10)_
T T~ R "R4Q . [ RN R
BIE Ps 5 10 15 20 25 30 35 40 45 50 55 60 B Ps 5 10 15 20 25 30 35 40 45 50 55 60
kpa FRE Air Flow (m3/min) kpa R Air Flow (m3/min)
w S B & RS BB 5 =] w"E m A
R1 TB-201 R2 TB-202 R3 TB125-3 R4 TB150-5
R5 TB150-7.5 R6 TB150-10 R8 TB150L-10 R9 TB200-15
R10 TB200-20
65

MINGHAQ

EETE XL Blowers & fans centrifugal blowers

www.twmhkj.com

. AT8(2HP)

_300(2HP) |

_447(1HP)
176 _|271(1HP] H
T 120 T &
I )5 L E'El
o nw
0= 8 o |
E% | ¥ g

g
e '5’&‘]_. . o)
&'mbﬁ I —.',e 0091 L2l

816

_O580(M5°8)
©275(M5°4)

7075

@275(M5*4)

ST
| I"Ii(='=:||af' o
g] o AR "' TB150-7.5/TB150-10 ﬁlﬁ'i'.._.ﬁ:‘-fzy.-i sy, LorrLED
= 410
Hgg__‘ 460
L 400 _

707.5

=
o
£
2
o
=

. 316

885

- | B

- M85 313, 560 |

e e e
E‘TG‘ |
g2
=1=1
m:ﬁﬁl._
iﬁ‘l.&_
|
(=]}
S
-

HEAOGEE -1 B-2

66

MINGHAD



I ©
ShengHong www.twmhkj.com

iE A UL TurboBlewers{CGentriugal Blawsrs) ‘ EIBICH XL Turbo Blowers(Centrifugal Blowers) ‘
R~E /Dimension (mm)

= R EER = E R B EE =r = 413 494
H= 188 Freﬁfm\/ ﬁiﬁi;ﬁ %cﬁ:;f ﬁéﬁ:ﬁ? (BtH ) _Efnitﬂ ) 0O Nois“?fevel W%;ﬁ i 160 m = e 1
Model Phase H KW vV A Presure(max) | Air flow(max) | Out Let dB K Stock i =
2 mm H,0 m?3/min gs 8 % _l
19220 1.5 o g e |8 z 2
CX-1/4 10/30 50/60 0.2 220/380 | 1.1/0.9 90/120 2.2/3.4 25 50/62 8 V < e 5 s 8 S
10220 25 ) i ] 5'5] ~H
CX-75S 10/30 | 50/60 0.4 220/380 | 19712 | 130/150 6/8 3 56/70 1 v 5 R e—
19220 5 te7| ™
CX-75 1030 | 50/60 0.75 | 220/380 | 3/1.9 190/270 16/18 4" 64/80 20 Vv w o
2 {1
CX~-100 30 50/60 1.5 220/380 | 5.3/35 | 210/320 20/25 4" 74/90 25 Vv ' "—fﬁ & CX-1/4 CX-100
N CX-150
CX-125 30 50/60 22 220/380 8/5 280/380 30/35 5 76/95 34 V — 5:22
CX-1560 30 50/60 3.7 220/380 13/7.5 350/400 35/45 6" 80/100 49 Vv ‘
‘ g wiIELE 6
CX-75 30 50/60 b.b 220/380 | 19/11.5 480/600 36/48 6 84/105 96 e / e
5 ""% . Sl
AO®E 0-7 m -i B . 45 @
/Caver manhale
£ AD0-6
o CX-75S
Gover ik | o CX-125
Hip 0-3 5 mﬁ) Prazzure(tk ) .gﬁ Fressure(it H) 3 5 }
e _— " R1 | CX-1/4 'I EIDHZ i I 50HZ __ )
i ; /TFousing o R2 | CX-758 i mEE I I e L -
3 ZOEE 0-5 b =] E60
mﬁk%f el / J /‘JP-.., /" Fonin e il Rl By EC = g { \ﬁ\ \‘1\ g 2
/ 4 i ; R4 | CX-100 | “EEE===] ™ . S — -H g e g BLEL
BHEH W-2 / B W- 1 7 ¥ jERESNEREA =N sST W e [ I o
C—_fapm = & Rl _ NS TR K T RE I T | iy~ e — . )
— 10 | PP i 5 BT BECEN w =
. R6 | CX-150 = B e 10 =l FREE 135 15 |0 205 @
B KEV-1/ " & ﬁ* x ' 2 aof? BN 1 410 30
TRy R7 | CX-75 NPT I % [ i ok ' 71
] B 12 b 20 @4 2 & 6 40 ca ai ,ﬁ.,l.. I3 R 1218 23 24 28 22 35 A7 44 & L ] OX-T5 A CX.75
67 68

MINGHAQ MINGHAD



58, @
ShengHong www.twmhkj.com

1B ZEE R E XA /Multi-stage Turbo Blowers 1B Z A E XL /Multi-stage Turbo Blowers

swabamox | AR BARE 2 i i
I'\%il P}Ea%e Freﬁfncy ﬁpﬁi% %{il\tig %ﬁ:&;ﬂ Pre(s?ﬁg?rgax} Air (fII:Jin?n‘zax} II:El)ul:lt fe% Noislf II_EIeveI Wﬁit ﬁS? ]nﬁ_kﬁ R d— Igl IDI mension ( 3 m)
Hz KW \ A mm HzO m3/min dB Kgs oL an o
HTB-75-032 30 50/60 0.3 220 1.2 210/260 6/7 3" 53/656 1 A . '_18""‘ ‘__
HTB-75-053 30 50/60 0.4 220 18 290380 | 6.5/7.5 g 55/68 2% v g (@5 B
HTB-75-104 30 50/60 0.75 220 3 375/500 6.5/8 3" 56/70 26 v < Y =
HTB-75-105 30 50/60 0.75 220 3 420/600 6.8/8.5 3" 56/70 29 Vi _ml wsl |- o =
HTB-100-102 30 50/60 0.75 220 3 340/450 11/13 4" 60/74 28 V i @*
HTB-100-203 30 50/60 1.5 220 5.4 500/700 10.4/14 4" 61/76 36 V g
HTB-100-304 30 50/60 2.2 220 8 650/900 12.5/16 4" 63/78 45 V i B i
HTB-100-505 30 50/60 3.7 220 13 790/1100 12.8/16.5 4" 64/80 55 vV P ;'4 ]
HTB-125-503 30 50/60 37 220 13 580/790 19/23 5" 80/85 62 v HTB75-032 2-stage HTBIRR:00% 4:Stack |
HTB-125-704 30 50/60 5.5 220 19 750/1050 20/24 5" 70/88 87 vV
HTB-125-1005 30 50/60 7.5 220 24 900/1300 20/24 ¥ 72/90 109 V =
HTB-200-1502 30 50/60 11 220 36 700/900 52/65 8" 86/109 203 %
HTB-200-2002 30 50/60 15 220 47 800/1000 56/70 8" 88/110 206 m_"‘; : |
HTB-65-503 30 50/60 3.7 220 13 1000/1400 1012 2 J i 70/85 73 b 8
HTB-65-704 30 50/60 55 220 19 1400/2000 12114 257 70/85 104 j
HTB-65-1005 30 50/60 7.5 220 24 1700/2500 14/16 25" 70/85 118
E f:‘l': ,'fg:, °,., T FYe m% _— Pressure{if {l} . 6OHZ r.?ifo | F R a0FT ?I-]t T j.;ﬁ
e (‘ R1 | HTB75-032 1200 Tk a 1200 ] N ‘L:‘E‘ B
R2 | HTB75-083 L =~ Tk 1050 i i HTB75-053 3-stage HTB100-505 5-stage W"’Hﬁ%ﬂ a
R3 | HTB75-104 soo <R ) I P I - |2
i | R4 | HTB75-105 80— "@’\_ i . e 2
o | RS | HTB100-102 ) N s 2 8 2 S Pt e o R R S ]
R6 | HTB100-203 P == g aso el PPk PRE =
# | gy | HTB100-304 ) N ﬁ‘ 3 3008 R ey
simbwenl RSN e
= : 190 HT: 1::::3 » 70 15 S 250, 0 w16 20 26 i
B R [HTB125-1005] ML covmity soz B mecenaity sz BB pucaaity vz BB reswi) oz
B [R12 |Hme200-1502| o ML T eos=E = e ]
4@ |R13 |HTB200-2002| ¥ = b : OO =
R14 | 2HTBE5-503 & A —Ie [+ == e
4ol H 40— - ol =
R15 | 2HTBE5-704 | oo | | IHEEEPREE g @ e g e Sensace
R16 |2HTBE5-1005 ol 40 20 30 40 slu]'sl:iq‘umwn ﬁﬁW‘IT!JE-'R'? m'ﬁu.m T E 3] 'i'-) - nﬁr}n 4 6 B 10 12 11 15 nl:lusn

HTB75-104 4-stage i

69 70

MINGHAQ MINGHAD



3ty °

ShengHong

BB 2 EE B XL " /Multi-stage Turbo Blowers

JR~F &) /Dimension(mm)

so /. 40

HTB125-704 4-stage

A
j}gr//{ i

o5
-

h

o =1
g Bt
8
8 = 4
Lot
187
B3

88

71

MINGHAQ

ki ] )
v L 2HTB65-1005 5-stage

HTB200-1502
HTB200-2002

2HTB65

BRI E X /Plate Fans

www.twmhkj.com

—_— o HE | BEDE  RARE | gemn| ARE | RXAR o BE R | e
Model Phase Frequency |  Power Voltage Current Presure(max) | Air flowimax)| Out Let Noise Level|  Weight Stock
Hz KW % A i HaO peyish dB Kgs
10220 | 1.5 W
PF-75 10/30 50/60 0.2 220380 | 1.1/0.9 55/70 4/5 3 50/62 10 v
10220 | 25 "
PF-100L 10/30 50/60 0.4 220/380 | 1.91.2 100/120 9/11 4 56/70 17 v
PF-125L 1030 50/60 0.75 -_;12%,?3%% gﬁ 8 110/140 14017 5 64/80 19 v
PF-1502 30 50/60 1.5 220/380 | 55/3.5 120/150 24/30 6" 74/90 32 v
PF-1503 30 50/60 2.2 220/380 8/5 125/160 28/35 6" 76/95 36 v
PF-2005 30 50/60 37 220/380 | 13/7.5 145/180 32/40 8" 80/100 49
PF-1285S 30 50/60 1.5 220/380 | 5.5/3.5 250/300 25/34 4" 84/105 38
PF-125 30 50/60 2.2 220/380 8/5 290/370 28/35 5" 76/95 4
PF-150 30 50/60 a7 220/380 | 13/7.5 320/390 32/40 6" 80/100 57
PF-180 30 50/60 6.5 220/380 | 19/11.6 | 350/420 35/46 6" 84/105 93
o2
; BE nE
.:Ef;ﬂ;] % 0-1 fBEE | @& mHO Fressure(it i) B0HZ  mmH0 Fressure(ktH) BOHZ
/ (Housing) 450 I [ T 430 T T
3 R1 |PF=75 |aooTf-L1 || I | ool = | |
FA B -2 0 == i i
{Capthvatrey— B | R2 |PP100L 4o el Tl 350t
R3 |PF-125L DTS <~ Ti] B
e -3 300 a2 3008 A
maagwe ) Tt M1 R4 |PF-1502| ?@E‘a | HE o L
[Ceptivering) [ IMian) = [ Rs |PF-1503 i 250 ~t=] [ 5
v | | * [, |
R KEY-1 ! # | R6 |PF-2005| 20 ! { 11 200 o !
ey , R7 |PF-125S| 150 FE ===t i i 150 S S
B FR L a0 N B i i 5 -_—:& 2 B =
i T -4 R8 |PF -125 | 100 G P I T SN i 100 NS .
Anpsee (B352) ® "Ro [PF -150 | s0 PR } ':""\ﬁ“\\\: Y Wr"'ﬁ %% 3
= i ~ =y | [y : 2L I RE
R0, PRE180 0 10 20 30 40 50 m'imin g 10 20 an 40 50 mimin

72

MINGHAD



st ©
ShengHong

JR~T[&] /IDimension(mm)

|

| @753

364
@244

—1 50—
i TR &l
'Q L= il =
: = %l
t E &
| 200 {Hr1'%

.\:“ i r-l
e Pe s

3. PF-1004%B-1,B-2,B-3= &M

73

MINGHAQ

(DIBEHR)
| Aos(eHe)
20,

A3

T
J%Rﬂ.@
118,
|

a5
Y,
[
=
@117
| ca

- &
BRI ?

=1

PF-75 & %

2/10064")

213

E 82 |110]) 20
220

PF-125L

HE 2% Muffler

12348 Filtering barrel

-+ a'é—

4—5——)-]

|&1

s

HMF-10
HMF-12
HMF-16

HMF-20

1
1

G114
G112

40

D(mm)

62

438

40

L{mm)

17

R

neimin

15

43
43

145

www.twmhkj.com

74

MINGHAD



#ity °

ShengHong

TIEES Filter

MEFO08 1
MF10 11/4
MF12 11/2
MF1a 2
MF20 2142
MEF32 4
*%E HEJ Pressure Reliefvalue
143
235 . o8 215
A =
i % . A
58 ﬁ ﬁ 53
g =
Y

75

MINGHAO

D (mm)

58
71
85
103
148

208

L{mm)

170
186
196
215
274

380

H (mm)

155
170
182
202
252

357

B(mm)

42

65
75
97

142

RV-01

RV-02

T UENEE
100 110
100 210
100 285
100 395
100 750
100 1000

Gl 1/4

Gl 1/4

L (mm)

143

143

0.49

0.65

1.20

245

A

0-300mbar

300-600mbar

www.twmhkj.com

TP R ZEG (IXX)

o XX e HES WA ik S
LA 2 i net 424

B
5 E R AU 2. 000mmag ) 245 &) W,

A ol A 15 2 R B AL 6 1R A

VA R RSN A 3 0 4
& AR, g AT A Fi5 KA

FihF RA 6 Hir ik

ot 2 Kk B A o,
ERFARL

EAM IR S B ZHE R

FRAZEST

AR T A I IE R AL D
Rk

LA 50

e A T
B R AR, 8 R R R, e
AL, Al RN

1]

iR m R M, VR AR T R REMRLE KT K

e BB TR

76

MINGHAD



ity ©
ShengHong

Vacuum compression type curve

Application example use for blowing

® Blow hoover exhaust cool transport air cushion
The gas and heavy

The gas and heavy

_ : b e Wash the battle machine Itis dry to use the Air cushion
oil gush out firing oil gush out firing and driesup air knife
dries up the water empety bottles colth piece blow
\ / ) g;cgg%'érﬂfter drops and send off
; . air pump e

e The circuit base
" out knife oil palte of dust
——and transfer

drop of water
\ high—pressure air

\ fule

High pressure air(2.000mmaq)

printed
circunt board

ball
g : Beverage bottle washing will drip dry Automatic collection The circuit board can be used to blow | Increasing the buoyancy easy to
adequate ventilation,Will reduce . : : ; :
your depandence on compressor Applicable to the food industry : of plastic,coth,paper cutting edge a small blower dust and debris move
The domestic animal excrement The gas and heavy Wash the battle machine Itis dry to use the Al cushion
ferments fieceness gas oil gush out firing and driesup air knife
air pump

air pump ) mold i.ng. product

Y

air pump

cashier

o r
o . A Nt
e g bl @ air punp & sir pup 7|} etectrolytic L N 7l
dischanging holes _ | trough I_
;'f&ggéef?cléﬂegariﬁ.fvg'ﬂ";?ei;ggﬂﬁe Thg:ugh,qﬂake the electhrol ebcilrculaae‘
ANCT ; . and repel adhering to the bubble an . .
contact area,and also suitable for Tregards air gas motive force to rhakes eﬁ actrolyte rgpadly the repadly,the He exhaust gas blowssmoking convenient to is it press product of
polluted wastewater treatment be fast also really to transport resuits is even. ' '

talking shape after to take out

s air pump Uy,
] |
’ =, heater " ]J.Hr
- 1 e ||/ wind knifec,
wind —,

=

gk

) = 1 L
-
B, |
compress air spray head mm‘
Power body grains of body,etc, ; Dischasrging rapidly by the sacttered exhaust |  blow the moisture cantrntto dry after ; o |
air of raw materials transport Atmdspherical help blaze and exhaust | o, 'tat appears,so as not to cause pollution having car machine washing 4 Enabling the printing color to dry fast
MINGHAQ

www.twmhkj.com

Tl R R E G (X )

® XK A HESSAD ik <A
WIRR ENRIATLIR &

A MK & 7) B R, A A s
e

i AL
/
SO o .. D KRR
TR T = @:@5
Ml Bk IEMG, FaLE R
F LA AZ R ERL AR R3] % & HrE, AR R Rk BB AR Yotk 2 B A RN B AFEE FA R LA

YR 4% SR EL

AHEE € 4, PRI HAF R AR

L] ERHERE ANE TR
Al

AL L FR 1R8I AR

AR LA R RA 2P,

B IKFRDE 8 R 36418 A0 R T
Tl 2 Bl BEH

L i

HRRATF ARk, B ok A A
Fedit

P AL

A I iy 2 AR

78

MINGHAD




	封面封底-01
	企业简介-01
	目录-01
	1-2-01
	3-4-01
	5-6-01
	7-8-01
	9-10-01
	11-12-01
	13-14-01
	15-16-01
	17-18-01
	19-20-01
	21-22-01
	23-24-01
	25-26-01
	27-28-01
	29-30-01
	31-32-01
	33-34-01
	35-36-01
	37-38-01
	39-40-01
	41-42-01
	43-44-01
	45-46-01
	47-48-01
	49-50-01
	51-52-01
	53-54-01
	55-56-01
	57-58-01
	59-60-01
	61-62-01
	63-64-01
	65-66-01
	67-68-01
	69-70-01
	71-72-01
	73-74-01
	75-76-01
	77-78-01



